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B.A./B.Com./B.Sc. DEGREE EXAMINATION, MAY - 2017 

(Examination at the end of Third Year) 

SCIENCE AND CIVILIZATION 

Time : 1½ Hours  Maximum Marks : 50 

     

                                        Section - A (2 x 13 = 26) 

Answer any Two of the following in sixty lines 

 

Q1) Illustrate the effects of Green Revolution on the agricultural output. 

 ÐèþÅÐèþÝëÄæý$ E™éµ§æþMæü™èþÌZ çßýÇ™èþ Ñç³ÏÐèþÐèþ$$ Äñý$$MæüP {ç³¿êÐèþÐèþ$$ è̄þ$ ™ðþË$ç³…yìþ. 

Q2) Briefly explain the equinoxes. 

 DMìüÓ¯éMðüÞ‹Ü Væü*Ça ÑÐèþÇ… è̂þ…yìþ. 

 

Q3)  Explain in detail about the synthetic fibres with suitable examples. 

 Mæü–{†Ðèþ$ ´ùVæü$Ë è̄þ$ ÑÑ«§æþ çÜÆðÿŌ èþ E§éçßýÆæÿ×ýË™ø ÑÐèþÇ… è̂þ…yìþ. 

 

Q4)  Describe the Gizah pyramid. 

 Xgê í³ÆæÿÑ$yŠþ¯èþ$ ÑÐèþÇ… è̂þ…yìþ. 

 

Q5)  Explain various significant discoveries in the medical field. 

 20Ðèþ Ôèý™éº®Ðèþ$$ÌZ ÐðþO§æþÅÆæÿ…Væü…ÌZ fÇW è̄þ {ç³Ðèþ$$Q BÑçÙPÆæÿ×ýË è̄þ$ Væü*Ça ™ðþËç³…yìþ. 

 

Q6)  Social responsibility to regarding over-exploitation of Natural Resources – Explain. 

 çÜçßýf Ðèþ è̄þÆæÿ$Ë §æþ$ÇÓ°Äñý*Væü…ÌZ ÝëÐèþ*hMæü ¿ê«§æþÅ™èþ¯èþ$ ÑÐèþÇ… è̂þ…yìþ. 

 

        Section - B (3 x 4 = 12) 

Answer any three of the following 

 Q7) Write short notes on : 

 a) RADOR. 

   ÆóÿyéÆŠÿ. 

 b) Antibiotics. 

   B…sìýºÄñý*sìýMŠü. 



  
   

  c) Eutrophication. 

   Äæý$*{sZíœMóüçÙ Œ̄þ. 

 d) PVC and Nylon 6,6. 

   í³ÑíÜ Ðèþ$ÇÄæý$$ ð̄þOÌê Œ̄þ 6,6. 

 e) Tissue culture. 

   Mæü×ýgêË ÐèþÆæÿ¦̄ èþÐèþ$$. 

 f) Internet and Cable. 

   C…rÆðÿ²sŒý Ðèþ$ÇÄæý$$ Móüº$ÌŒý 

 g) OTEC. 

   KsìýCíÜ. 

 h) Insecticides. 

   MîürMæü¯éÔèýM>Ë$. 

 i) Gun Powder. 

   Væü¯Œþ ´ûyæþÆŠÿ. 

 

        Section - C (3 x 4 = 12) 

Answer all Questions  

 

Q8) Fill in the blanks. 

 a) Another name for vitamin ‘D’ 

   Ñr-Ñ$ Œ̄þ "yìþ' Äñý$$MæüP Ðèþ$ÇÄñý$$Mæü õ³Ææÿ$.  

 b) Who discovered the first antibiotic? 

   Ððþ$$§æþsìý B…sìýºÄñý*sìýMŠü GÐèþÆæÿ$ Mæü è̄þ$Vö¯é²Ææÿ$? 

  c) Who invented the computer? 

   Mæü…ç³NÅrÆŠÿ¯èþ$ GÐèþÆæÿ$ Mæü è̄þ$Vö¯é²Ææÿ$? 

 d) Social Justice. 

   ÝëÐèþ*hMæü ¯éÅÄæý$Ðèþ$$. 

 

Q9) Choose the correct answer. 

 a) Calendar 

   i) Chinese     ii) Egyptians 

   iii) Japanese    iv) Babylonians 

  



  
   

 

   M>Ìñý…yæþÆŠÿ 

   i) ð̂þO±‹Ü      ii) Dhí³tÄæý$ Œ̄þÞ 

   iii) fç³±‹Ü      iv) »ê¼ÌZ°Äæý$ Œ̄þÞ    

 b) Blasting purpose. 

   i) Steel     ii) Iron 

   iii) Radium     iv) Dynamite     

   §óþ°° ÑÝù¹r è̄þÐèþ$$ÌZ Eç³Äñý*WÝë¢Ææÿ$. 

   i) ïÜtÌŒý      ii) IÆæÿ Œ̄þ 

   iii) ÆóÿyìþÄæý$…      iv) yðþŌ èþÐðþ$OsŒý 

  c) White Revolution 

   i) Plants     ii) Animals 

   iii) Eggs     iv) Milk 

   ÔóýÓ™èþ Ñç³ÏÐèþÐèþ$$ 

   i) Ððþ$$MæüPË$      ii) f…™èþ$Ðèþ#Ë$ 

   iii) {Væü$yæþ$Ï      iv) ´ëË$ 

 d) Malathion 

   i) Vitamin     ii) Proteins 

   iii) Fertilizers    iv) Pesticides 

   Ððþ$Ìê¤Äæý* Œ̄þ 

   i) ÑrÑ$¯èþ$Ï      ii) {́ ùsîý Œ̄þ 

   iii) GÆæÿ$Ðèþ#      iv) {MìüÑ$çÜ…àÇ×ìý 

  

Q10) Match the following : 

 a) Cobol  Synthetic fibre 

  b) DNA     Amono Acids 

  c) Protein     Computer 

 d) Nylon 6,6     Genetic material 

 

 a) Mø»êÌŒý      Mæü–{†Ðèþ$ ´ùVæü$ 

  b) yìþG Œ̄þG     GÐðþ$Ō ø BÐèþ$ÏÐèþ$$ 

 c) {́ ùsîý Œ̄þ      Mæü…ç³NÅrÆŠÿ 

 d) ð̄þOÌê Œ̄þ 6,6     f è̄þ$Å ç³§éÆæÿ¦Ðèþ$$ 
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B.Com. DEGREE EXAMINATION, MAY – 2017 

(Examination at the End of Third Year) 

Business Laws 

Time : 3 Hours  Maximum Marks : 80 

   SECTION - A  

     Answer any four of the following (4 × 4 = 16) 

      

Q1) Fine concert 
 õÜÓ^ée çÜÐ@þ$Ã† 

. 

Q2) Capacity of parties 
 ´ëÈtË AÆæÿá™èþ 

Q3)  Public policy 
 {ç³gê Ñ«§é¯@þÐ@þ¬ 

Q4)  Indemnity 
C…yìþÑ$²sìý 

Q5)  Bailment 
 O»ñýÆÿ¬ÌŒý Ðóþ$…r$ 

Q6)  National commission 
 Móü…{§æþ MæüÒ$çÙ¯Œþ 

Q7)  Liquidator 
 ÍMìüÓyóþrÆŠÿ 

Q8)  Public company 
 {ç³¿¶ý$™èþÓ Mæü…ò³± 

SECTION - B  

     Answer any two of the following (2 × 8 = 16) 

Q9)  What are the essentials of valid offer  
  {ç³†´ë§æþ¯@þMæü$ M>Ð@þËíÜ¯@þ BÐ@þÔ¶ýÅMæü™èþË¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

 

Q10) No consideration no contract discuss. 
 {ç³†çœËÐ@þ¬ Ìôý° M>…{sêMæü$t, M>…{sêMæü$t M>§æþ$ ÑÐ@þÇ…ç³#Ð@þ¬. 



  
   

Q11) Explain the rights and duties of the Bailor 
 O»ñýÆÿ¬ËÆŠÿ A«̈ M>Ææÿ Ñ«§é¯éË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

Q12) Write about the Termination of Agency. 

 Termination of Agency Væü$Ç…_ {ÐéÄ¶ý¬Ð@þ¬. 

SECTION - C  

     Answer any three of the following (3 × 16 = 48) 

Q13) What are the assentials of valid contract. 
 M>…{sêMæü$tMæü$ M>Ð@þËíÜ¯@þ BÐ@þÔ¶ýÅMæü™èþË¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

Q14)  What are the various modes of discharge of contract. 
 M>…{sêMæü$t ÑÐðþ* è̂þ¯@þÐ@þ¬ ^ðþ…§æþ$ ÑÑ«§æþ ç³§æþ®™èþ$Ë¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

Q15)  Write about the consumer protection Act. 
 Ñ°Äñý*Væü §éÆæÿ$Ë ç³ÇÆæÿ„æü×ê ^èþrtÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

Q16)  Explain the appointment, removal, qualification and disqualification of a director.  
 OyðþÆæÿMæütÆæÿ$ °Ä¶ý*Ð@þ$MæüÐ@þ¬, ™öËW…ç³#, AÆæÿá™èþ, A¯@þÆæÿá™èþË¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

Q17)  Explain the modes of creation of Agency. 
 Hf±Þ M>…{sêMæü$t HÆ>µr$¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 

Q18)  Define the contract of indemnity? What are the rights of an indemnity holder when 
seed? 

 C…yìþÑ$²sîý M>…{sêMæü$t̄ @þ$ ÑÐ@þÇ…_ C…yìþÑ$²sìý çßZËzÆæÿ$Mæü$ VæüË çßýMæü$PË¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

���� 
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B.Com. DEGREE EXAMINATION, MAY – 2017 

(Examination At the End of Third Year) 

(Part - II) 

Income Tax and Practical Auditing 

Time : 3 Hours  Maximum Marks : 80 

   SECTION - A  

     Answer any two of the following (2 × 4 = 8) 

Q1) Appointment of on Audit of Government company. 
 {ç³¿¶ý$™èþÓ Mæü…ò³± ByìþsŒý °Ä¶ý*Ð@þ$MæüÐ@þ¬ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬.  

.Q2) Interim audit 

 Ð@þ$«§æþÅ…™èþÆæÿ ByìþsŒý 
Q3)  Concept of Materiality 
 Ð@þ¬RêÅ…Ô>Ë ¿êÐ@þ¯@þ 
Q4)  Audit Engagement letter 

ByìþsŒý °Ô¶ýaÄ¶ý$ ÌôýQ 

SECTION - B   

     Answer any two of the following (2 × 16 = 32) 

Q5)  Discuss the provisions regarding disqualifications of Aduitor.  
 ByìþrÆŠÿ A¯@þÆæÿá™èþËMæü$ çÜ…º…¨…_ A…Ô¶ýÐ@þ¬Ë$ ÑÔ¶ý©MæüÇ…ç³#Ð@þ¬. 
Q6)  Distinguish between clean report and qualified report. 
 Ýë§é °Ðóþ¨Mæü çÙÆæÿ™èþ$ ç³NÆæÿMæü °Ðóþ¨Mæü Ð@þ$«§æþÅ Ð@þÅ™éÅÝëË¯@þ$ ™ðþË$ç³#Ð@þ¬. 
Q7)  What is vouching and valuation? Also state their relative importance. 
 Ðø_…VŠü Ð@þ$ÇÄ¶ý¬ Ð@þÊÌêÅ…Mæü¯@þÐ@þ¬ A¯@þV>¯óþÑ$? Ìêsìý Ýëõ³„æü {́ ë§é¯@þÅ™èþ ™ðþË$ç³#Ð@þ¬. 
Q8)  How would you vouch cash and credit sales 
 ¯@þVæü§æþ$ Ð@þ$ÇÄ¶ý¬ AÆæÿ$Ð@þ# AÐ@þ$ÃM>Ë$ {ç³“MìüÄ¶ý$¯@þ$ ™ðþË$ç³#Ð@þ¬. 

SECTION - C  

     Answer any two of the following (2 × 4 = 8) 

Q9)  Non resident  
  °ÐéíÜ M>§æþ$. 
Q10) Exempted perquisites  
 ç³¯@þ$²̄ @þ$…yìþ Ñ$¯@þàÆÿ¬…ç³ºyìþ¯@þ ç³ÇËº$®Ë$ 
Q11) How do you compute income from self occupied house property. 
 Ä¶ý$fÐ@þ*° Ý÷…™èþ °ÐéçÜÐ@þ¬ MöÆæÿMæü$ Ðéyæþ$™èþ$¯@þ² Væü–çßýýÐ@þ¬ ¯@þ$…yìþ B§éÄ¶ý$Ð@þ¬ Äñý¬MæüP ÌñýMìüP…ç³#¯@þ$ 

ÑÐ@þÇ…ç³#Ð@þ¬. 



  
   

Q12) Taxable incomes under the head Income from other sources. 
  C™èþÆæÿ B§éÄ¶ý*Ë ÖÇÛMæü “Mìü…§æþ ç³¯@þ$² ð̂þÍÏ…^èþ Ð@þËíÜ¯@þ B§éÄ¶ý*Ë$ ™ðþË$µÐ@þ¬. 

 

  SECTION - D  

      Answer any Two of the following (2 × 16 = 32) 
Q13) Mr. Vishnu is an employee in Indian Navy furnished the following information for 

the assessment year 2016-2017. Compute his taxable Income. 
 M>…{sêMæü$tMæü$ M>Ð@þËíÜ¯@þ BÐ@þÔ¶ýÅMæü™èþË¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 •  Basic salary �  40,000 per month 

 •  Deorness allowance 27 % of Basic salary 

 •  Fixed medical allowance � 800 per month 

 •  Entertainment allowance � 12,000 

 •  Received a laptop worth  � 40,000 

•  He is provided a Rent free accommidation in visakhapatnam with furniture 

costing to � 3,00,000. 

 •  His employer paid  � 15,000 towards income tax on behalf of Mr. Vishnu. 

 •  Own contribution to RPF  � 64,000 

 •  Employer’s contribution to RPF  � 64,000 

 •  Interest on RPF credited @ 11%   � 11,000 

 •  LIP paid    � 36,000 

 •  Donation to national defence fund   � 20,000 

 } ÑçÙ$~ C…yìþÄ¶ý$¯Œþ ¯óþÒ ÌZ E§øÅW 2016. 2017 ç³¯@þ$² °Æ>ªÆæÿ×ý çÜ…Ð@þ™èþÞÆæÿÐ@þ¬¯@þMæü$ ¨Væü$Ð@þ Æÿ¬_ā @þ 
ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ A™èþ° Ððþ¬™èþ¢Ð@þ¬ B§éÄ¶ý$Ð@þ¬ ÌñýMìüP…ç³#Ð@þ¬. 

 •  Ð@þÊË i™èþÐ@þ¬ ¯ðþËMæü$ Ææÿ* 40,000 
 •  MæüÆæÿ$Ð@þ# ¿¶ý™èþÅÐ@þ¬  i™èþÐ@þ¬ÌZ 27 Ô>™èþÐ@þ¬ 
 •  íÜ®Ææÿ OÐðþ§æþÅ ¿¶ý™èþÅÐ@þ¬ ¯ðþËMæü$  Ææÿ* 800 
 •  Ñ¯ø§æþ ¿¶ý™èþÅÐ@þ¬  Ææÿ* 12,000 
 •  Ä¶ý$fÐ@þ*° ¯@þ$…yìþ ´÷…¨¯@þ Ìê‹³sê‹³ Ææÿ* 40,000 
 •  E§øÅWMìü ÑÔ>Qç³r²…ÌZ Ä¶ý$fÐ@þ*° E_™èþ Ð@þçÜ† ÝûMæüÆæÿÅ…™ø ´ër$ Ææÿ* 300000 ÑË$Ð@þ VæüË 

ç³Ç²̂ èþÆŠÿ ¯@þ$ HÆ>µr$ ^óþòÜ¯@þ$. 
   •  ÑçÙ$~ ™èþÆæÿç³#¯@þ Ä¶ý$fÐ@þ*° ^ðþÍÏ…_¯@þ B§éÄ¶ý$ ç³¯@þ$²  Ææÿ*15,000 
   •  Væü$Ç¢…ç³# ´÷…¨¯@þ °«̈ Mìü Ä¶ý$fÐ@þ*° ð̂þÍÏ…_¯@þ¨  Ææÿ* 64,000 
 •  Væü$Ç¢…ç³# ´÷…¨¯@þ °«̈ Mìü } ÑçÙ$~ ð̂þÍÏ…_¯@þ¨   Ææÿ* 64,000 



  
   

 •  Væü$Ç¢…ç³# ´÷…¨¯@þ °«̈ Mìü fÐ@þ$ AÆÿ¬ @̄þ Ð@þyîþz 11 Ô>™èþÐ@þ¬ ^öç³š¯@þ  Ææÿ* 11,000 
 •  gê¡Ä¶ý$ Ææÿ„æü×ý °««̈ Mìü ÑçÙ$~ ð̂þÍÏ…_¯@þ Ððþ¬™èþ¢Ð@þ¬ Ææÿ*   Ææÿ* 20,000 
 •  iÑ™èþ ÁÐ@þ* ^ðþÍÏ…_¯@þ¨   Ææÿ* 36,000 
 
Q14)   From the following Receipts and payments Account of Dr. Arun for the year ended 31st 

March 2016. Compute his professional Income. 

   Receipts               � Payments                                 �

To  Balance B/F 65,000 By Staff salary 4,80,000 

 To Visiting fees 3,90,000 By Clinic rent 3,84,000 

 To  Consultation fees 5,20,000 By Car fuel charges 72,000 

 To fees for surgery 8,62,000 By  Income tax 42,000 

 To sale of medicines 9,75,000 By Professional books 46,000 

 To gift from patients 40,000 By ESI. Staff 32,000 

 To interest on investment 22,000 By Drawings 60,000 

 To Rent from house property 1,80,000 By  Car Purchased 12,00,000 

 To borrowing from canare bank 15,00,000 By Surgical equipment 9,70,000 
  To sale of journals 5,000 By Computers 3,60,000 

     By Repairs to house 
      Property 74,000 

     By Life insurance  
      Premium (self) 65,000 

     By Purchase of medicines 6,43,000 
     By Balance c/d 1,31,000 

    4559000   4559000 
 Additional Information  

 a) 40% of the car is used for personal purposes. 

 b) Provide depreciation on car @ 15% Per annum. 

 Dr. AÆæÿ$×Šý Ð@þ*ÆŠÿa 31
st  2016 çÜ…º…¨…_ ¨Væü$Ð@þ Æÿ¬_a¯@þ Ð@þçÜ*â¶ý$å Ð@þ$ÇÄ¶ý¬ ^ðþÍÏ…ç³#Ë Rê™éË 

¯@þ$…yìþ A™èþ° Ð@þ–†¢ ¯@þ$…yìþ B§éÄ¶ý$Ð@þ¬ ÌñýMìüP…ç³#Ð@þ¬. 
   Æ>ºyæþ$Ë$                 Ææÿ* ^ðþÍÏ…ç³#Ë$                                 Ææÿ*

To  ™ðþ_ā @þ °ËÓ 65,000 By Ýët‹œ i™éË$ 4,80,000 

 To  Ñhsìý…VŠü ïœk 3,90,000 By MìüÏ°MŠü A§ðþª 3,84,000 

 To  Mæü¯ŒþçÜÌŒýsôýçÜ¯Œþ fees 5,20,000 By M>Ææÿ$ C…§æþ¯@þÐ@þ¬ QÆæÿ$aË$ 72,000 

 To çÜÆæÿjÈ ïœk 8,62,000 By B§éÄ¶ý$ ç³¯@þ$² 42,000 

 To Ð@þ$…§æþ$Ë$ AÐ@þ$ÃMæüÐ@þ¬ 9,75,000 By Ð@þ–†¢ çÜ…º…¨™èþ ç³#çÜ¢M>Ë$ 46,000 

 To õ³òÙ…r$Ï ¯@þ$…yìþ ´÷…¨¯@þ   
   ºçßý$Ð@þ$™èþ$Ë$ 40,000 By Esi. Ýët‹³ 32,000 

 To ò³r$tºyæþ$Ë Oò³ Ð@þyîþz 22,000 By Ý÷…™èþ ÐéyæþM>Ë$ 60,000 

 To Væü–çßýíÜ¢ ¯@þ$…yìþ A§ðþª 1,80,000 By M>Ææÿ$ Mö @̄þ$VøË$ 12,00,000 

 To Mðü¯@þÆ> »êÅ…Mæü$ ¯@þ$…yìþ ´÷…¨¯@þ  By çÜÇjMæüÌŒý Eç³MæüÆæÿ×êË$ 9,70,000 



  
   

  º¬×ýÐ@þ¬ 15,00,000 By Computers Mæü…ç³NÅrÆæÿ$Ï 3,60,000 
 To fÆæÿ²ÌŒýÞ AÐ@þ$ÃMæüÐ@þ¬ 5,000 By Væü–çßý Ð@þ$ÆæÿÐ@þ$Ã™èþ$¢ QÆæÿ$aË$ 74,000 

     By iÑ™èþ ÁÐ@þ* {ï³Ñ$Ä¶ý$Ð@þ¬ 
      ™èþ¯@þMæü$ çÜ…º…¨…_ 65,000 

     By Ð@þ$…§æþ$Ë$ Mö¯@þ$VøË$ 6,43,000 

     By ™ðþ_ā @þ °ËÓ 1,31,000 

    4559000   4559000 
 A§æþ¯@þç³# çÜÐ@þ*^éÆæÿÐ@þ¬ : 

a) 40 Ô>™èþÐ@þ¬ M>Ææÿ$¯@þ$ Ý÷…™èþ ÐéyæþM>ËMæü$ Eç³Äñý*W…^èþ$ è̂þ$…yðþ¯@þ$ 
b) M>Ææÿ$ Oò³ ™èþÆæÿ$Væü$§æþË çÜ…Ð@þ™èþÞÆæÿÐ@þ¬¯@þMîü 15 Ô>™èþÐ@þ¬ HÆ>µr$ ó̂þÄ¶ý¬Ð@þ¬. 

 
Q15)  Explain the provisions under income tax Act. Relations to set off and carry forward of 

losses. 
 B§éÄ¶ý$ ç³¯@þ$² ^èþrtÐ@þ¬ {ç³M>ÆæÿÐ@þ¬ ¯@þÚëtË ¿¶ýÈ¢ Ð@þ$ÇÄ¶ý¬ Ð@þ¬…§æþ$Mæü$ ¡çÜ$Mö° ´ùÐ@þ#rMæü$ çÜ…º…¨…_¯@þ 

{ç³“MìüÄ¶ý$¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

Q16)  Explain the following : 

 a) Under section 10(13A) Income tax Act, House Rent allowance and  

 b) Education allowance. 
 ¨Væü$Ð@þ Ðésìý° ÑÐ@þÇ…ç³#Ð@þ¬. 
 a) òÜ„æü¯Œþ 10(13A) C…sìý A§ðþª ¿¶ý™èþÅÐ@þ¬ B§éÄ¶ý$ ç³¯@þ$² ^èþrt… {ç³M>ÆæÿÐ@þ¬ Ð@þ$ÇÄ¶ý¬ 
 b) Ñ§éÅ ¿¶ý™èþÅÐ@þ¬ B§éÄ¶ý$ ç³¯@þ$² è̂þrt… {ç³M>ÆæÿÐ@þ¬ 

 

���� 
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B.Com. DEGREE EXAMINATION, MAY – 2017 

(Examination at the end of Third Year) 

Part - II : Cost and Management Accounting 

Time : 3 Hours  Maximum Marks : 80 

     SECTION – A (4 × 4 = 16) 

    Answer any four of the following 

Q1) Cost control methods 
  Ð@þÅÄ¶ý$ °Ä¶ý$…{™èþ×ý ç³§æþª™èþ$Ë$ 

. 

Q2) Indirect Materials 
 ç³Æø„æü Ððþ$sîýÇÄ¶ý$ÌŒýÞ 

Q3)  Sunk cost 
 Ð@þ¬W…ç³# Ð@þÅÄ¶ý$Ð@þ¬ 

 

Q4)  Economic order quantity 
B§é™ø Mæü*yìþ¯@þ BÆæÿzÆæÿ$ ç³ÇÐ@þ*×ýÐ@þ¬ 

Q5)  Non – monetary incentives 
  {§æþÐóþÅ™èþÆæÿ {́ ù™éÞçßýM>Ë$ 

Q6)  Total cost of production 
 Ððþ¬™èþ¢Ð@þ¬ E™èþµ†¢ Ð@þÅÄ¶ý$Ð@þ¬ 

Q7)  Working capital 
 °ÆæÿÓçßý×ý Ð@þÊË§æþ¯@þÐ@þ¬ 

Q8)  Advantages and disadvantages of LIFO. 

 LIFO  ç³§æþª† {ç³Äñý*f¯éË$ Ð@þ$ÇÄ¶ý¬ ÌZ´ëË$ 

     SECTION – B (2 × 8 = 16) 

Answer any two of the following questions 

Q9)  Explain the advantages and disadvantages of weighted average price method to maintain 

stores ledger. 
 ¿êÆæÿ™èþ çÜVæür$ «§æþÆæÿ ç³§æþª† Oò³ ÝùtÆæÿÞ BÐ@þÆ>j ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬r Ð@þË¯@þ Ìê¿êË$ ¯@þÚëtË$ ™ðþË$µÐ@þ¬. 

 

Q10) Enunciate the importance of Ratio Analysis.  



  
   

 °çÙµ™èþ$¢Ë ÑÔóýÏçÙ×ý {́ ëÐ@þ¬QÅ™èþ¯@þ$ Mæü$Ïç³¢…V> ÑÐ@þÇ…ç³#Ð@þ¬. 

Q11) The following is the receipts and issue of a certain material in a factory during the 

month of Feb 2016. Prepare a stores ledger as per LIFO method. 

 2016  Feb 1 Opening balance  5000 units @ � 92 per unit 

    3 Received  3750 units @ � 93 per unit 

    4 Issued 5250 units 

    6 Received 1200 units @ � 95 per unit 

    8 Returned to supplier 150 units which were received on 3.12.16  

    9 issued 4300 units 

    10 Received 900 units @ � 94 per unit 

    12 Received 500 units @ � 93 per unit 

    15 Issued 1350 

    16 Stock verification reveals loss of 20 units 

 22 Returned from production department 50 units which were issued on 

9.02.2016. 

 íœ{ºÐ@þÇ 2016. ¨Væü$Ð@þ ™ðþÍí³¯@þ ´÷…¨¯@þ Ð@þ$ÇÄ¶ý¬ gêÈ ^óþíÜ¯@þ Ððþ$sîýÇÄ¶ý$ÌŒýÞ ÑÐ@þÆæÿÐ@þ¬Ë$ ¯@þ$…yìþ LIFO 

ç³§æþª†ÌZ ÝùtÆŠÿÞ BÐ@þÆ>j ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬Ð@þ¬   

 2016  í³{ºÐ@þÇ 1 {́ ëÆæÿ…¿¶ý °ËÓ  5000 Ä¶ýÊ°sŒýÞ Ä¶ýÊ°sŒý 1 Mìü Ææÿ* 92 

    3 ïÜÓMæüÇ…_¯@þ  3750 Ä¶ýÊ°r$Ï Ä¶ýÊ°sŒý 1 Mìü Ææÿ* 93 

    4 gêÈ ^óþíÜ¯@þ  5250 Ä¶ýÊ°r$Ï   
   6 ïÜÓMæüÇ…_¯@þ  1200 Ä¶ýÊ°r$Ï Ä¶ýÊ°sŒý 1 Mìü Ææÿ* 95 

  8 3.02.2016 @̄þ ïÜÓMæüÇ…_¯@þ Ä¶ýÊ°sŒý ÌZ 150 Ä¶ýÊ°r$Ï ççÜç³ÏÆÿ¬ÆŠÿMìü Ðéç³‹Ü 
^óþíÜ†Ç 

  9 gêÈ ^óþíÜ¯@þÑ 4300 Ä¶ýÊ°r$Ï 

  10 ´÷…¨¯@þÑ 900 Ä¶ýÊ°r$Ï Ä¶ýÊ°sŒý 1 Mìü Ææÿ* 94 

  12 ´÷…¨¯@þÑ 500 Ä¶ýÊ°r$Ï Ä¶ýÊ°sŒý 1 Mìü Ææÿ* 93 

  15  gêÈ AÆÿ¬ @̄þÑ 1350 Ä¶ýÊ°r$Ï 

  16 ÝëtMŠü ÐðþÇíœMóüçÙ¯Œþ ÌZ 20 Ä¶ýÊ°r$Ï ¯@þçÙtÐ@þ$Æÿ¬¯@þr$Ï ™óþÍaÇ. 



  
   

22 09&02&2016 E™èþµ†¢ Ñ¿êVæüÐ@þ¬¯@þ Mæü$ ç³…í³×îý ó̂þíÜ¯@þ Ä¶ýÊ°sŒýÌZ 50 Ä¶ýÊ°r$Ï 
Ðéç³‹Ü AÆÿ¬ @̄þÑ.  

  

Q12)  From the following particulars. Calculate the earnings of  workman under Halgey 

Premium system and Rowan plan. 

   Working hours in a week  48 

   Hourly rate � 80 

   Piece rate � 35 

   Standard time per piece 20 minutes 

   Standard production 120 pieces per week 

   Actual production per week 150 pieces 

“Mìü…¨ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ JMæü M>ÇÃMæü$°Mìü JMæü ÐéÆæÿ…ÌZ çÜ…´ë§æþ¯@þ¯@þ$ àÌôýÞ ç³§æþMæüÐ@þ¬ Ð@þ$ÇÄ¶ý¬ ÆøÐ@þ¯@þ 
ç³§æþMæüÐ@þ¬ §éÓÆ> Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

 ÐéÆæÿ…ÌZ ç³° Væü…rË$ 48 

 Væü…rMæü$ Ðóþ™èþ¯@þÐ@þ¬ Ææÿ* 80 

 ï³çÜ$ Æóÿr$ Ææÿ* 35 

 JMæü ï³‹Ü Mæü$ Ýë§éÆæÿ×ý M>ËÐ@þ¬ 20 °Ñ$çÙÐ@þ¬Ë$ 

 ÐéÆ>°Mìü Ýë§éÆæÿ×ý E™èþµ†¢ 120 ï³çÜ$Ë$ 

 ÐéÆæÿ…ÌZ ÐéçÜ¢ÑMæü E™èþµ†¢ 150 ï³çÜ$Ë$ 

     SECTION – C (3 × 16 = 48) 

Answer any three of the following questions  

Q13) From the following information. Calculate Reorder level. Minimum level and maximum 
level component yx and zx are used as follows : 

   Maximum usage  530 units per week 

   Minimum usage 270 units per week 

   Reorder quantity  yx 1400 units; zx 1600 units 

   Reorder period yx 8 to 12 weeks; zx 6 to 8 weeks  

 ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ 

a) ÈBÆæÿzÆæÿ$ Ýë¦Æÿ¬ 

b) Mæü°çÙt Ýë¦Æÿ¬ 

c) VæüÇçÙt Ýë¦Æÿ¬ ÌñýMìüP…ç³#Ð@þ¬. 

yx Ð@þ$ÇÄ¶ý¬ zx Ððþ$sîýÇÄ¶ý$ÌŒý¯@þ$ “Mìü…¨ Ñ§æþ…V> Eç³Äñý*WÝë¢Ææÿ$. 

 Mæü°çÙt Ñ°Äñý*VæüÐ@þ¬  ÐéÆ>°Mìü 270 Ä¶ýÊ°r$Ï 

 VæüÇçÙt Ñ°Äñý*VæüÐ@þ¬  ÐéÆ>°Mìü 530 Ä¶ýÊ°r$Ï 

 È BÆæÿzÆæÿ$ ç³ÇÐ@þ*×ýÐ@þ¬ yx 1400 Ä¶ýÊ°r$Ï  



  
   

    zx 1600 Ä¶ýÊ°r$Ï 

 È BÆæÿzÆæÿ$ M>ËÐ@þ¬  yx 8 ¯@þ$…yìþ 12 ÐéÆæÿÐ@þ¬Ë$ 

    zx 6 @̄þ$…yìþ 8 ÐéÆæÿÐ@þ¬Ë$ 

Q14) The following contract of costing information related to product “JM” for the half year 

ending 31 – 12 - 2016. 

      �

Purchase of raw material  2,30,000 

 Works over head  1,40,000 

 Direct wages  1,80,000 

 Carriage on purchases 12,000 

 Stock on 1
st 

July 2016 :  

  Raw material   80,000 

 Finished products 1000 units 1,60,000 

 Stock on 31st December 2016 :  

 Raw materials  2,20,000 

 Finished products 2000 units 4,10,000 

 Work in progress 1 – 7 – 2016 48,000 

 Work in progress 31 – 12 – 2016 28,000 

 Sales    20,00,000 

 Selling and distribution over head is 1% on sales during the period 16000 units       
commodity were produced. Ascertain  

a) Profit of the period.

 31 & 12 & 2016 A…™èþÐ@þ$Äôý$Å AÆæÿ¦ çÜ…Ð@þ™èþÞÆæÿ…¯@þMæü$ ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë¯@þ$…yìþ Ððþ¬™èþ¢Ð@þ¬ Ìê¿¶ýÐ@þ¬ 
ÌñýMìüP…ç³#Ð@þ¬. 

  Ææÿ* 

 Æ>Ððþ$sîýÇÄ¶ý$ÌŒý Mö¯@þ$VøË$ 2,30,000 

 Ð@þÆŠÿP  KÐ@þÆŠÿ òßýyŠþÞ 1,40,000 

 {ç³™èþÅ„æü Ðóþ™èþ¯éË$ 1,80,000 

 Mö¯@þ$VøË$ ÆæÿÐé×ê 12,000 

 1 &7 & 2016 : Æ>Ððþ$sîýÇÄ¶ý$ÌŒý ÝëtMæü$ 80,000 

 E™èþµ†¢ Ð@þçÜ$¢Ð@þ#Ë$ 1000 Ä¶ýÊ°r$Ï Ææÿ*  1,60,000 

 31 &12 & 2016 : Æ>Ððþ$sîýÇÄ¶ý$ÌŒý ÝëtMæü$  Ææÿ* 2,20,000 

 E™èþµ†¢ Ð@þçÜ$¢Ð@þ#Ë$ 2000 Ä¶ýÊ°r$Ï  Ææÿ* 4,10,000 

 1 & 7 & 2016 Mö @̄þÝëVæü$™èþ$¯@þ² E™èþµ†¢  Ææÿ* 48,000 

 31-&12&2016 Mö¯@þÝëVæü$™èþ$¯@þ² E™èþµ†¢  Ææÿ* 28,000 



  
   

 AÐ@þ$ÃM>Ë$  Ææÿ* 20,00,000 

 AÐ@þ$ÃM>Ë$ Ð@þ$ÇÄ¶ý¬ ç³…í³×îý KÐ@þÆæÿòßýyŠþÞ AÐ@þ$ÃM>Ë Oò³ 1 Ô>™èþÐ@þ¬ {ç³çÜ$¢™èþ M>ËÐ@þ¬ÌZ 16,000 Ä¶ýÊ°r$Ï 
¯@þ$ E™èþµ†¢ ó̂þòÜ¯@þ$. 

 

Q15) The following information related to Job No. 1. Find out total cost and selling price 

showing a profit of 25% on selling price.  
 Material used � 32,000 

 Wages : - 

 Dept.  A - 80 Hours @ Rs. 90 per hour 
 Dept B  - 50 Hours @ Rs. 60 per hour 

 Dept C - 30 Hours @ Rs. 77 per hour 

  Over head 

 Fixed Rs. 6,00,000 for 15,000 hours 

 Variable overheads 

 Dept. - A - Rs. 1,50,000 for 5000 hours 

 Dept. - B - Rs. 45,000 for 1500 hours 

 Dept. - C - Rs. 80,000 for 4000 hours 

 gê»Œý ¯@þ…ºÆæÿ$ 1 Mæü$ çÜ…º…¨…_ ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ (i) Ððþ¬™èþ¢Ð@þ¬ Ð@þÅÄ¶ý¬Ð@þ¬ Ð@þ$ÇÄ¶ý¬ AÐ@þ$ÃMæü… Oò³ 
25 Ô>™èþÐ@þ¬ Ìê¿¶ýÐ@þ¬™ø AÐ@þ$ÃMæüÐ@þ¬ ÑË$Ð@þ °Ææÿ~Æÿ¬…ç³#Ð@þ¬. 
 Ñ°Äñý*W…_¯@þ Ððþ$sîýÇÄ¶ý$ÌŒý §æþÆæÿ Ææÿ* 32,000 
 Ðóþ™èþ¯éË$ : 
 “A” Ñ»êVæüÐ@þ¬  80 Væü…rË$  1 Væü…rMæü$ Ææÿ* 90.00 
 “B” Ñ»êVæüÐ@þ¬  50 Væü…rË$  1 Væü…rMæü$ Ææÿ* 60.00 
 “C” Ñ»êVæüÐ@þ¬  30 Væü…rË$  1 Væü…rMæü$ Ææÿ* 77.00 
 KÐ@þÆŠÿ òßýyŠþÞ 15000 Væü…rËMæü$ íÜ¦Ææÿ OÐðþ$¯@þ¨ --Ææÿ* 6,00,000  
 ̂ èþÆæÿ KÐ@þÆŠÿ òßýyŠþÞ : 
 Ñ¿êVæüÐ@þ¬ “A” Ææÿ* 15000 --& 5000 Væü…rËMæü$--- ---- 
 Ñ¿êVæüÐ@þ¬ “B” Ææÿ* 45000 & 1500 Væü…rËMæü$ 
 Ñ¿êVæüÐ@þ¬ “C” Ææÿ* 80,000 & 4000 Væü…rËMæü$ 

Q16) Fortune company has three production departments P Q R and two service departments 

S1 and S2 

 For the year 2016 overheads are given below :  

   Rent � 15,00,000 

   Electricity  � 9,60,000 

   Indirect wages � 7,20,000 

   Depreciation on fixed assets � 1,80,000 

   Canteen expenses � 3,60,000 

   Power � 72,000 



  
   

 Other Information  

    P Q R S1 S2 

   Area sq. feet 10,000 4,000 3,500 1500 1000 

   Light points 300 170 150 130 50 

   Indirect wages 60,000 40,000 35,000 22,000 23,000 

   Horse power 150 90 60 70 30 

   Cost of Machine 15,00,000 12,00,000 8,00,000 5,00,000 2,00,000 

   Working hours 2,400 1,800 800 - - 

 Distribute over heads on rational basis. 
 ´ùÆæÿ*t̄ Œþ Mæü…ò³±Mìü Ð@þÊyæþ$ E™èþµ†¢ Ñ¿êV>Ë$ Ð@þ$ÇÄ¶ý¬ Æðÿ…yæþ$ õÜÐé Ñ»êV>Ë$ MæüËÐ@þ#. JMæü ±È~™èþ M>Ìê°Mìü 

Ð@þÅÄ¶ý*Ë$ “Mìü…¨ Ñ«§æþ…V> E¯é²Æÿ¬. 

   A§ðþª Ææÿ*. 15,00,000 

   Ñ§æþ$Å ^èþaMìü¢ Ææÿ*. 9,60,000 

   ç³Æø„æü Ðóþ™èþ¯éË$ Ææÿ*. 7,20,000 

   íÜ¦Æ>çÜ$¢Ë Oò³ ™èþÆæÿ$Væü$§æþË Ææÿ*. 1,80,000 

   Móü…sîý¯Œþ QÆæÿ$aË$ Ææÿ*. 3,60,000 

   Ô¶ýMìü¢ Ææÿ*. 72,000 

 A§æþ¯@þç³# çÜÐ@þ*^éÆæÿÐ@þ¬ 

    P Q R S1 S2 

   çÜ¦Ë ÑïÜ¢Ææÿ~Ð@þ¬ Ayæþ$Væü$ËÌZ 10,000 4000 3,500 1500 1000 

  OÌñýsìý…VŠü ´ëÆÿ¬…r$Ï 300 170 150 130 50 

  ç³Æø„æü Ðóþ™èþ¯éË$ 60,000 40,000 35,000 22,000 23,000 

   Ô¶ýMìü¢ 150 90 60 70 30 

   Ä¶ý$…{™éË$ ÑË$Ð@þ 15,00,000 12,00,000 8,00,000 5,00,000 2,00,000 

   ç³° Væü…rË$  2,400 1800 800 & & 

  Ð@þÅÄ¶ý*Ë¯@þ$ Ñ¿êV>ËMæü$ çÜÐ@þ$…fçÜOÐðþ$¯@þ ç³§æþª† Oò³ ç³…ç³MæüÐ@þ¬ ^óþÄ¶ý$…yìþ.  
    

Q17 From the following Balance sheet of a company as on 31
st
 March 2016 Calculate  

a) Debt equity ratio 

 b) Current ratio 

 c) Acid Test ratio 

d) Fixed asset Turnover ratio when sales � 50,00,000 

Liabilities   � Assets  �

Equity share capital 20,00,000 Plant 25,00,000 



  
   

 General reserve 3,60,000 Motor car 17,00,000 

 P & L. A/c  2,40,000 Stock 5,70,000 

 10% Debentures 18,00,000 Debtors 2,82,000 

 Bank OD  5,00,000 Cash 1,24,000 

 Creditors  1,20,000 Prepaid income tax  32,000 

 Rent outstanding 1,98,000 Discount on issue of debenture 10,000 

    52,18,000  52,18,000 

 

  
 31 Ð@þ*ÆŠÿa 2016 BíÜ¢ Aç³šË ç³sîýtË ¯@þ$…yìþ 

 a) º¬×ýÐ@þ¬ DMìüÓsîý °çÙµ†¢ 

 b) {ç³çÜ$¢™èþ °çÙµ†¢ 

 c) BÐ@þ$Ï °çÙµ†¢ 

d) íÜ¦Æ>çÜ$¢Ë rÆø²Ð@þÆŠÿ °çÙµ†¢  AÐ@þ$ÃM>Ë$ Ææÿ* 50,00,000 AÆÿ¬ @̄þç³šyæþ$ 

Aç³šË$   Ææÿ* BçÜ$¢Ë$  Ææÿ*

DMìüÓsîý Ðésê Ð@þÊË«§æþ¯@þÐ@þ¬ 20,00,000 ´ëÏ…sŒý 25,00,000 

Ýë§éÆæÿ×ý ÇfÆæÿ$Ó 3,60,000 Ððþ*sêÆæÿ$ M>Ææÿ$ 17,00,000 

 Ìê¿¶ý ¯@þÚëtË Rê™é 2,40,000 ÝëtMæü$ 5,70,000 

 10% yìþ»ñý… ð̂þÆæÿ$Ï 18,00,000 º¬×ý“VæüçÜ$¢Ë$ 2,82,000 

»êÅ…Mæü$ OD  5,00,000 ¯@þVæü§æþ$ 1,24,000 

 º¬×ý§é™èþË$  1,20,000 Ð@þ¬…§æþ$V> ^ðþÍÏ…_¯@þ ç³¯@þ$² 32,000 

ð̂þÍÏ…^èþÐ@þËíÜ¯@þ A§ðþª 1,98,000 yìþ»ñý… è̂þÆæÿ$Ï gêÈ Oò³ yìþÝûP…r$ 10,000 

    52,18,000  52,18,000 

 
Q18) Star Limited has given profit and loss statement. You are required to prepare           

comparative income statement and comment on it. 

   2014 - 2015 2015 – 2016 

   � �

Sales 46,00,000 50,00,000 

 Cost of goods sold 32,20,000  37,75,000 

 Gross profit 13,80,000  12,50,000 



  
   

 Commission received 20,000  10,000 

 Profit on sale of Asset 80,000  ×× 

 Salaries 5,20,000  5,80,000 

 Rent  2,40,000  2,50,000 

 Depreciation 60,000  80,000 

 Advertisement 1,20,000  1,00,000 

 Income tax 30,000  40,000 

 Net profit 5,10,000  2,10,000  
 ÝëtÆŠÿ ÍÑ$sñýyŠþ ÐéÇ B§éÄ¶ý$ °Ðóþ¨Mæü B§éÆæÿ…V> ™èþ$Ë¯é™èþÃMæü B§éÄ¶ý$ °Ðóþ¨Mæü¯@þ$ ™èþÄ¶ý*Ææÿ$ ^óþíÜ 

ÐéÅRêÅ°…^èþ…yìþ.      
   2014 - 2015 2015 – 2016 
   Ææÿ* Ææÿ*

AÐ@þ$ÃM>Ë$ 46,00,000 50,00,000 

 AÑ$Ã @̄þ Ð@þçÜ$¢Ð@þ#Ë ÑË$Ð@þ 32,20,000  37,75,000 

 çÜ*¦Ë Ìê¿¶ýÐ@þ¬ 13,80,000  12,50,000 

 ´÷…¨¯@þ MæüÒ$çÙ¯Œþ 20,000  10,000 

 BíÜ¢ AÐ@þ$ÃMæü… Oò³ Ìê¿¶ýÐ@þ¬ 80,000  ×× 

 i™éË$ 5,20,000  5,80,000 

 A§ðþª  2,40,000  2,50,000 

 ™èþÆæÿ$Væü$§æþË 60,000  80,000 

 {ç³Mæür¯@þË$ 1,20,000  1,00,000 

 B§éÄ¶ý$ ç³¯@þ$² 30,000  40,000 

 °MæüÆæÿ Ìê¿¶ýÐ@þ¬ 5,10,000  2,10,000  

  
  

    
 

 
 

���� 
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B.Com. DEGREE EXAMINATION, MAY – 2017 

(Examination at the end of Third Year) (Part – II) 

Third Year 

Business Correspondence and Report Writing 

Time : 3 Hours  Maximum Marks : 80 

   SECTION - A  

     Answer any four of the following (4 × 4 = 16) 

 

Q1) Communication is an outcome of relations between Two or more individuals -      

Discuss.  
 C§æþªÆæÿ* Ìôý§é A…™èþMæü…sôý GMæü$PÐ@þ Ð@þ$…¨ Ð@þÅMæü$¢Ë Ð@þ$§æþÅ ç³#r$tMæü$ Ð@þ^ðþa çÜ…º…§æþÐóþ$ »êÐ@þ {ç³ÝëÆæÿ 

Ð@þ*§æþÅÐ@þ$Ð@þ¬. 
. 

Q2) Public communication 
 {ç³gê ¿êÐ@þ{ç³ÝëÆæÿÐ@þ¬ 

Q3)  Features of written communication 
  ÍS™èþ ¿êÐ@þ{ç³ÝëÆæÿÐ@þ¬ Äñý¬MæüP Ë„æü×êË$ 

Q4)  Importance of downward communication. 
°Ð@þ$² Ýë¦Æÿ¬ »êÐ@þ{ç³ÝëÆæÿÐ@þ¬ Äñý¬MæüP {́ ëÐ@þ¬QÅ™èþ 

Q5)  Formal Lehers 
 Ìê…^èþ¯@þ {́ ëÄ¶ý$OÐðþ$¯@þ ÌôýQË$ 

Q6)  Objectives of a good report. 
 Ð@þ$…_ Ç´ùÆŠÿtMæü$ M>Ð@þËíÜ¯@þ §óþÅÄ¶ý*Ë$ 

Q7)  Danagers of a report with errors. 
 ™èþç³šË™ø Mæü*yìþ¯@þ Ç´ùÆŠÿt °Ðóþ¨Mæü {ç³Ð@þ*§æþMæüÆæÿOÐðþ$¯@þ¨ 

Q8)  Motivation 
 {õ³Ææÿ×ý 

   SECTION - B  

     Answer any two of the following questions (2 × 8 = 16) 

Q9)  Explain briefly about intra – personal communication.  
 A…™èþÆæÿY™èþ ¿êÐ@þ {ç³ÝëÆæÿÐ@þ¬ Væü*Ça Mæü$Ïç³¢…V> {ÐéÄ¶ý¬Ð@þ¬. 



  
   

Q10) Elaborate the meaning of E. mail and functions of e.mail. 
 D Ððþ$Æÿ¬ÌŒý AÆæÿªÐ@þ¬ ™ðþÍí³ §é° Äñý¬MæüP Ñ§æþ$Ë¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

Q11) Explain about psychological factors to he considered in an effective communication. 
 {ç³¿êÐ@þÐ@þ…™èþOÐðþ$¯@þ »êÐ@þ {ç³ÝëÆæÿÐ@þ¬ÌZ Ð@þ*¯@þíÜMæü OÐðþ$¯@þ M>ÆæÿM>Ë$ ÑÐ@þÇ…ç³#Ð@þ¬. 

Q12) Explain the meaning and advantages of formal communication. 
  Ìê…^èþ¯@þ {́ ëÄ¶ý$OÐðþ$¯@þ »êÐ@þ{ç³ÝëÆæÿÐ@þ¬ Äñý¬MæüP AÆæÿªÐ@þ¬ Ð@þ$ÇÄ¶ý¬ Eç³Äñý*V>Ë$ ™ðþË$µÐ@þ¬. 

     SECTION - C  

     Answer any Three of the following questions (3 × 16 = 48) 

Q13) Describe the principles of a business letter. 
 ÐéÅ´ëÆæÿ E™èþ¢ÆæÿÐ@þ¬ Äñý¬MæüP çÜ*{™éË$ ÑÐ@þÇ…ç³#Ð@þ¬. 

Q14)  Explain briefly about Non – verbal communication.  
 Ð@þ◊SRôý™èþÆæÿ »êÐ@þ{ç³ÝëÆæÿÐ@þ¬ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 

Q15)  Write a letter to your principal for the issue of TC and CC after completion of 

B.Com. Degree course. 

 B.Com.MøÆŠÿÞ ç³NÇ¢ AÆÿ¬¯@þ í³§æþç³ TC/CC ° MøÆæÿ$™èþ* í³°Þ́ ëÌŒý V>Ç° E§óþªÕçÜ$¢ E™èþ¢ÆæÿÐ@þ¬ 
{ÐéÄ¶ý¬Ð@þ¬. 

Q16)  Explain the essentials of a good report.  
 Ð@þ$…_ °Ðóþ¨MæüMæü$ M>Ð@þËíÜ¯@þ BÐ@þÔ¶ýÅM>Ë$ ™ðþË$µÐ@þ¬. 

Q17)  Enunciate the errors in “interpretation of information’ and definitions.  
 °ÆæÿÓ è̂þ¯éË¯@þ$ Ð@þ$ÇÄ¶ý¬ çÜÐ@þ*^éÆæÿÐ@þ¬ ÐéÅRêÅ°…^èþ$¯@þç³#yæþ$ Ð@þ^èþ$a ™èþç³šË$ Væü*Ça è̂þÇa…^èþ…yìþ. 

Q18) Describe the general functions of communication. 
 ¿êÐ@þ{ç³ÝëÆæÿ Ýë§éÆæÿ×ý Ñ«§æþ$Ë¯@þ$ Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 
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B.Com. DEGREE EXAMINATION, MAY – 2017 

(Examination at the end of Third Year) 

(Part – II) 

Business Data Processing Systems B.Com. (Gen) Report Generator 

(B.Com(CA)) 

Time : 3 Hours  Maximum Marks : 80 

   SECTION - A  

     Answer any four of the following (4 × 4 = 16) 

      

Q1) File creation  
 OòœÌŒý¯@þ$ Ææÿ*´÷…¨… è̂þ$r² 
. 

Q2) Editing database 

 ‘yésê »ôý‹Ü’ Gyìþsìý…VŠü 

Q3)  Creating a Report 
  °Ðóþ¨Mæü¯@þ$ Ææÿ*´÷…¨…^èþ$r 

Q4)  Managing work book in Excel 
GMðüÞÌŒý ¯@þ…§æþ$ Ð@þÆŠÿP º$MŠü ¯@þ$ H Ñ«§æþ…V> Ðóþ$¯óþgŒý ^óþÝë¢Ææÿ$? 

Q5)  Tool bar in windows 
 Ñ…yæþ‹Ü ÌZ r*ÌŒý »êÆŠÿ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 

Q6)  What is ‘DBMS’? List at least three tasks at DBMS enable to uses to do. 

 ‘DBMS’ A @̄þV>¯óþÑ$? DBMS @̄þ$ Eç³Äñý*W…^èþ$rMæü$ V> @̄þ$ VæüË HOÐðþ¯é Ð@þÊyæþ$ ç³§æþ®™èþ$Ë¯@þ$ 
{ÐéÄ¶ý¬Ð@þ¬. 

Q7)  What is data processing. 
 yésê {́ ÷òÜíÜ…VŠü A¯@þV> ¯óþÑ$? 

Q8)  Explain Auto fill features of Excell. 
 GMðüÞÌŒý ÌZ BsZíœÌŒý Ë„æü×êË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 SECTION - B  

     Answer any two questions (2 × 8 = 16) 

Q9)  What is Data processing? Explain  
 yésê {́ ëòÜíÜ…VŠü A¯@þV> ¯óþÑ$? ÑÐ@þÇ…^èþ…yìþ. 

Q10) How do you insert ‘Header’ and ‘Footer’ in a word Document. 



  
   

 Ð@þÆŠÿz yéMæü$ÅÐðþ$…sŒýÌZ òßýyæþÆŠÿ Ð@þ$ÇÄ¶ý¬ çœ#rÆŠÿ Ë¯@þ$ ±Ð@þ# HÑ«§æþ…V> C¯ŒþòÜÆŠÿt ^óþÄ¶ý¬§æþ$Ð@þ#?  

Q11) Explain about a spread sheet. 
 {òÜµyŠþ ïÙsŒý ¯@þ$ Væü*Ça ÑÐ@þÇ… è̂þ…yìþ. 

Q12) Write about D – Base commands with examples. 
  yîþ & »ôý‹Ü MæüÐ@þ*…yŠþË¯@þ$ Væü*Ça E§éçßýÆæÿ×ýË™ø {ÐéÄ¶ý¬Ð@þ¬. 

     SECTION - C  

     Answer any Three questions (3 × 16 = 48) 

Q13) What are the process carried out on files. 

 OòœÌŒýÞ̄ @þ$ carried out ó̂þÄ¶ý¬rMæü$ V>¯@þ$ VæüË {ç³“MìüÄ¶ý$Ë$ HÑ? 

Q14)  How data can be entered into a Table?  
 yésê¯@þ$ sôýº$ÌŒý ( ç³sìýtMæüËÌZ) H Ñ«§æþ…V> °ÆæÿÓíßýÝë¢Ææÿ$? 

Q15)  Describe the term computer programme? 
 Mæü…ç³NÅrÆŠÿ {́ ù“V>ÐŒþ$ A¯@þ$ ç³§é°² ÑÔ¶ý©MæüÇ…^èþ…yìþ. 

Q16)  Explain about the formulas and functions in Excel.  
 GMðüÞÌŒý ÌZ ¸ëÆæÿ$ÃÌê Ë @̄þ$ Ð@þ$ÇÄ¶ý¬ çœ…„æü¯ŒþË¯@þ$ Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 

Q17)  Explain in detail, the steps introduced in creating a latter wizard. 
 ÌñýrÆŠÿ ÑgêÆŠÿz ¯@þ$ Ææÿ*´÷…¨…^èþ$rMæü$ V>¯@þ$ VæüË ÑÑ«§æþ Ýë¦Æÿ¬Ë¯@þ$ Væü*Ça Ñç³#Ìê™èþÃMæüÐ@þ¬V> 

ÑÐ@þÇ… è̂þ…yìþ. 

Q18) Write about various types of printers? 
 ÑÑ«§æþ ÆæÿMæüÐ@þ¬OÌñý¯@þ {í³…rÆŠÿÞ Væü*Ça {ÐéÄ¶ý$…yìþ. 
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B.Com. DEGREE EXAMINATION, MAY – 2017 

(Examination at the end of Third Year) 

Part - II : Corporate Accounting 

Time : 3 Hours  Maximum Marks : 80 

SECTION - A 

     Answer any four of the following  (4 × 4 = 16)  

Q1) Importance  of Accounting standards. 
  AMú…sìý…VŠü {ç³Ð@þ*×êË {́ ë«§é¯@þÅ™èþ 

Q2) What is the need for valuation of good will?  
  Væü$yŠþ ÑÌŒý Ð@þÊÌêÅ…Mæü¯@þÐ@þ¬¯@þMæü$ V>¯@þ$ BÐ@þÔ¶ýÅMæü™èþ HÑ$? 

Q3)  What about net asset value method. 
 °MæüÆæÿ BçÜ$¢Ë ÑË$Ð@þ ç³§æþ®†° Væü*Ça {ÐéÄ¶ý$…yìþ. 

Q4)  What is interim dividend and final dividend?  
 Ð@þ$«§æþÅM>ÍMæü (™é™éPÍMæü) yìþÑyðþ…yæþ$ Ð@þ$ÇÄ¶ý¬ ™èþ$¨yìþÑyðþ…yæþ$ A @̄þV>¯óþÑ$?  

Q5)  How is purchase consideration determined?  
 Mö¯@þ$VøË$ {ç³†çœË…¯@þ$ HÑ«§æþ…V> °Æ>®Ç…^ðþ§æþÐ@þ#? 

Q6)  What is internal Reconstruction 
 A…™èþÆæÿY™èþ ç³#¯@þÇ²Æ>Ã×ý… A¯@þV>¯óþÑ$? 

Q7)  Write a short notes on contingent liabilities. 
 AVæü…™èþ$Mæü »ê«§æþÅ™èþË$ Oò³ Ëçœ¬ ÐéÅçÜ… {ÐéÄ¶ý$…yìþ. 

Q8)  What is Surrender value? 
 Ð@þ§æþ$Ë$MøË$ ÑË$Ð@þ A¯@þV>¯óþÑ$? 

SECTION - B 

      Answer any Two of the following  (2 × 8 = 16) 
Q9)  Explain Accounting standars in Brief? 
 AMú…sìý…VŠü {ç³Ð@þ*×êË¯@þ$ Mæü$Ïç³¢…V> ÑÐ@þÇ… è̂þ…yìþ. 

Q10) Assets and liabilities of silver Ltd. as on 31st March 2017 were as follows : 

  Liabilities  Amount Assets Amount 

    � �

Share capital :   Land and Buildings 2,20,000 

 4000 shares of � 100 each  Plant and Machinery 2,60,000 

 Fully paid  4,00,000 Patents & Trade Marks 40,000 
 General Reserve  80,000  Stock 96,000 

 surplus a/c  64,000 Debtors 1,76,000 
 Sundry Creditors  2,56,000 Bank 104000 



  
   

      

 Income tax provision  1,20,000 Preliminary expenses 24,000 

    9,20,000  9,20,000 

 Land and Buildings were valued at � 4,80,000, Goodwill at � 3,20,000 and plant and 

Machinery � 2,40,000. Out of the total debtors, it is found that debtors of � 16,000 are 

bad. The profits of the company for the three years has been as follows 2015 - � 

1,60,000 2016 – � 1,80,000 and 2017 - � 2,12,000. The company has the practice of 

transferring 25% of profits to general reserve. Similar type of companies earn at 10% of 

the value of their shares. Ascertain the value of share of the company under fair value 
method.  

 31 Ð@þ*Ça 2017 ¯ésìý íÜËÓÆŠÿ ÍÑ$sñýyŠþ ÐéÇ BíÜ¢ Aç³šË$ ¨Væü$Ð@þ±Ä¶ý$ºyìþ¯@þÑ. 
  Aç³šË$  Ææÿ*  BçÜ$¢Ë$ Ææÿ* 

 Ðésê Ð@þÊË«§æþ¯@þ… :     ¿¶ý*Ñ$ Ð@þ$ÇÄ¶ý¬ ¿¶ýÐ@þ¯éË$ 2,20,000 

 4,000 ÐésêË$ Ðésê 1Mìü   ´ëÏ…r$ Ð@þ$ÇÄ¶ý¬ Ä¶ý$…{™éË$ 2,60,000 
 Ææÿ* 100^öç³š¯@þ ç³NÇ¢V> ^ðþÍÏ…_¯@þÑ 4,00,000 ò³sñý…r$Ï Ð@þ$ÇÄ¶ý¬ {sôýyŠþ Ð@þ*Ææÿ$PË$ 40,000 

 Ýë§éÆæÿ×ý ÇfÆæÿ$Ó  80,000 çÜÆæÿ$Mæü$ 96,000 

 Ñ$Væü$Ë$ Rê™é  64,000 º¬×ý“VæüçÜ$¢Ë$ 1,76,000 

 ÑÑ«§æþ º¬×ý §é™èþË$  2,56,000 »ê…Mæü$ 10,4000 

 B§éÄ¶ý$ç³# ç³¯@þ$² HÆ>µr$  1,20,000 {́ ë£æþÑ$Mæü QÆæÿ$aË$ 24,000 

    9,20,000  9,20,000 
 ¿¶ý*Ñ$ Ð@þ$ÇÄ¶ý¬ ¿¶ýÐ@þ¯éË$ ÑËÐ@þ¯@þ$ Ææÿ*. 4,80,000 Ë$V> ÑË$Ð@þ MæürzyæþOÐðþ$¯@þ¨. Væü$yŠþ ÑÌŒý ¯@þ$ Ææÿ* 

3,20,000 Ë$ V>¯@þ$ Ð@þ$ÇÄ¶ý¬ ´ëÏ…r$ Ä¶ý$…{™éË¯@þ$ Ææÿ*. 2,40,000 Ë$ V>¯@þ$ ÌñýMìüP…^èþyæþOÐðþ$¯@þ¨. 
º¬×ý“VæüçÜ$¢Ë ¯@þ$…_ Ð@þçÜ*Ë$ M>Ð@þËíÜ¯@þ Ððþ¬™èþ¢…ÌZ Ææÿ* 16,000 Æ>° »êMîüË$V> °Ææÿ~Æÿ¬…^èþyæþOÐðþ$¯@þ¨. 
Mæü…ò³± ÐéÇ Væü™èþ Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆæÿÐ@þ¬Ë$ Ìê¿êË$ Ð@þÆæÿ$çÜV> : 

 2015 - & Ææÿ* 16,0000; 2016 Ææÿ*. 1,80,000 Ð@þ$ÇÄ¶ý¬ 2017&Ææÿ*. 2,12,000. Mæü…ò³±ÐéÆæÿ$ 
Ìê¿êË¯@þ$…_ ÇfÆæÿ$Ó¯@þMæü$ 25% Ð@þ$ãåÝë¢Ææÿ$. C§óþ ™èþÆæÿà Mæü…ò³±Ë$ AÆæÿj̄ @þ Æóÿr$ ÐéÇ ÐésêË ÑË$Ð@þ Oò³ 
10% AÆÿ¬¯@þ C_ā @þ çÜÐ@þ*^éÆæÿ… B«§éÆæÿ…V> Mæü…ò³± Äñý¬MæüP Ðésê ÑË$Ð@þ¯@þ$ Æ>ºyìþ (fair) ÑË$Ð@þ ç³§æþ®† 
{ç³M>Ææÿ… ÌñýMìüP…^èþ…yìþ. 

 
Q11) From the following information calculate value of goodwill on the basis of three  years 

purchase of super profits of the business. 

 a) Average capital employed in the business � 9,00,000. 

 b) Rate of interest expected from capital having regard to the risk involved is 10% 

 c) Net trading profits of the firm of the past three years were � 1,61,400; � 1,36,100 

and � 1,68,750;  

 d) Fair remuneration to the partners for their services is � 18,000 per annum. 



  
   

 ¨Væü$Ð@þ °_ā @þ çÜÐ@þ*^éÆ>°Mìü V>¯@þ$ Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>Ë A§æþ¯@þç³# Ìê¿êË$ Mö¯@þ$VøË$ Oò³ Væü$yŠþÑÌŒý 
ÑË$Ð@þ¯@þ$ ÌñýMìüP…^èþ…yìþ.  

 a) ÐéÅ´ëÆæÿ…ÌZ E…_¯@þ çÜVæür$ Ð@þÊË«§æþ¯@þ… Ææÿ*. 9,00,000 

 b) ò³r$tºyìþ Ç‹ÜPMæü$ V> @̄þ$ A…^èþ¯é Ð@þyîþz Æóÿr$ Ð@þÊË«§æþ¯@þ… Oò³ 10% 
 c) Væü™èþ Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>Ë Ìê¿êË$ Ð@þÆæÿ$çÜV> Ææÿ*. 1,61,400; Ææÿ* 1,36,100 Ð@þ$ÇÄ¶ý¬ Ææÿ*. 

1,68,750 
 d) ¿êVæüçÜ$¢Ë õÜÐ@þËMæü$ V>¯@þ$ ^ðþÍÏ… è̂þÐ@þËíÜ¯@þ çÜÇOÄñý$¯@þ {ç³†çœË… çÜ…Ð@þ™èþÞÆ>°Mìü Ææÿ*. 18,000.ý 

Q12)  Following is the Balance sheet of X, Y Ltd on 30
th 

June 2016, on which date the entire 

business was taken over by vishal Ltd : 

Balance Sheet 

  Liabilities  Amount Assets Amount 

    � �

X’s Capital  80,000 Premises  1,00,000 
 Y’s Capital  80,000 Furniture 21,200 

 Bank loan  40,000 Stock 48,000 
 Bills payable  26,000 Bills Receivable 17,600 

 Sundry Creditors  39,200 Sundry debtors 70,000 
     Cash 8,400 

    2,65,200  2,65,200 
 In the above data the entire business was taken by vishal Ltd. Who paid the purchase 

consideration as follows : 

 a) 10,000 fully paid equity shares of � 10 each. 

 b) � 80,000 in 6% debentures. 

 c) � 20,000 in cash. 

 While recording assets the company valued premises at 20% above and stock at 10% 

less than  their book values and furniture at � 20,000, Pass necessary Journal entries in 

the books of the company (xy Ltd)   

 30 l¯Œþ 2013 ¯éyæþ$ xy Mæü…ò³± Äñý¬MæüP BíÜ¢ Aç³šË ÑÐ@þÆ>Ë$ ¨Væü$Ð@þ±Ä¶ý$ºyìþ¯@þÑ. B™óþ©¯@þ (vishal) 
ÑÔ>ÌŒý ÍÑ$sñýyŠþ ÐéÆæÿ$ Ððþ¬™èþ¢… ÐéÅ´ëÆ>°² xy Mæü…ò³± ¯@þ$…yìþ ¡çÜ$Mö¯@þyæþOÐðþ$¯@þ¨. 

BíÜ¢ Aç³šË$ ç³sîýt 
  Aç³šË$  Ææÿ* BçÜ$¢Ë$ Ææÿ* 

X’s Ð@þÊË«§æþ¯@þ…  80,000 BÐ@þÆæÿ×ýË$  1,00,000 

 Y’s Ð@þÊË«§æþ¯@þ…  80,000 çœÇ²̂ èþÆæÿ$ 21,200 

 »ê…Mæü$ Aç³š  40,000 çÜÆæÿ$Mæü$ 48,000 

 ^ðþÍÏ…ç³# ¼Ë$ÏË$  26,000 Ð@þçÜ*Ë$ ¼Ë$ÏË$ 17,600 

 ÑÑ«§æþ º¬×ý§é™èþË$  39,200 ÑÑ«§æþ º¬×ý“VæüçÜ$¢Ë$ 70,000 

     ¯@þVæü§æþ$ 8,400 

    2,65,200  2,65,200 



  
   

 Oò³ ™óþ©¯éyæþ$ Ððþ¬™èþ¢… ÐéÅ´ëÆ>°² ÑÔ>ÌŒý ÍÑ$sñýyŠþ ÐéÆæÿ$ ¡çÜ$Mö°, Mö¯@þ$VøË$ {ç³†çœË…¯@þ$ ¨Væü$Ð@þ Ñ«§æþ…V> 
ð̂þÍÏ…^èþyæþOÐðþ$¯@þ¨ : 

 a) 10,000 DMìüÓsîý ÐésêË$ 1 Mìü Ææÿ*. 10 ^öç³š¯@þ ç³NÇ¢V> ^ðþÍÏ…_¯@þÑ. 
 b) 6% yìþ»ñý…^èþÆæÿ$Ï Ææÿ* 80,000  

 c) ¯@þVæü§æþ$ Ææÿ* 20,000 
Mæü…ò³±ÐéÆæÿ$ BçÜ$¢Ë¯@þ$ D Ñ«§æþ…V> ÑË$Ð@þ MæürtyæþOÐðþ$¯@þ¨. BÐ@þÆæÿ×ýË¯@þ$ 20% GMæü$PÐ@þV>¯@þ$ Ð@þ$ÇÄ¶ý¬ 
çÜÆæÿ$Mæü$¯@þ$ 10% ™èþMæü$PÐ@þV>¯@þ$ Ð@þ$ÇÄ¶ý¬ çœÇ²̂ èþÆæÿ$¯@þ$ Ææÿ*. 20,000 Ë$ V>¯@þ$ ÌñýMìüP…^èþyæþOÐðþ$¯@þ¨. xy Mæü…ò³± 
ÐéÇ ç³#çÜ¢M>ËÌZ _sêt ç³§æþ$®Ë¯@þ$ {ÐéÄ¶ý$…yìþ. 

 

 

SECTION - C 

   Answer any Three of the following  (3 × 16 = 48) 

Q13)  What is the meaning of statement of Affairs? What are the various lists to be attached 
while preparing statement of Affairs, show the statement with imaginary figures. 

 Ð@þÅÐ@þàÆ>Ë °Ðóþ¨Mæü A¯@þV>¯óþÑ$? Ð@þÅÐ@þàÆ>Ë °Ðóþ¨Mæü¯@þ$ Ææÿ*´÷…¨…^èþyé°Mìü V>¯@þ$ 
´÷…§æþ$ç³Ææÿ è̂þÐ@þËíÜ¯@þ ÑÑ«§æþ gê¼™éË$ HÑ? Fíßý…_¯@þ ÑË$Ð@þË ™ø Ð@þÅÐ@þàÆ>Ë °Ðóþ¨Mæü¯@þ$ 
è̂þ*ç³…yìþ. 

Q14)  Prepare consolidated Balance sheet from the following balance sheets of ‘H’Ltd and 

‘S’ Ltd stood as on 31
st 

March 2017. 

  Liabilities  ‘H’ Ltd ‘S’ Ltd Assets ‘H’ Ltd ‘S’ Ltd 

                                          � � � �

 Equity shares   Sundry Assets 1,60,000 24,000 

 Of � 10 each 2,00,000 40,000 Stock 1,22,000 48,000 

 Profit & Loss A/c 80,000 24,000 Debtors 2,6000 34,000 

 Reserve fund 20,000 12,000 Bills Receivable 2000 - 

 Creditors  40,000 24,000 Shares in ‘S’ Ltd 

 Bills payable - 6,000 3000 at cost 30,000 - 

    3,40,000 1,06,000  3,40,000 1,06,000 

 Additional Information :- 

a) ‘S’ Ltd has carned all profits only since the above 3000 shares were acquired by 

‘H’ Ltd. 

b) On the date of acquisition of these 3000 shares by H Ltd, ‘S’ Ltd had got reserves 

of � 12,000. 

c) Bills payable of ‘S’Ltd are in favour of ‘H’ Ltd.which had discounted � 4,000 of 

them. 

d) Sundry Assets of ‘S’ Ltd under valued by � 4000. 

 31Ð@þ*Ça 2017 ¯ésìý ‘H’ ÍÑ$sñýyŠþ Ð@þ$ÇÄ¶ý¬ ‘S’ ÍÑ$sñýyŠþ ÐéÇ HMîüMæü–™èþ BíÜ¢ Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$ 
ó̂þÄ¶ý$…yìþ. 



  
   

  Aç³šË$  ‘H’ ÍÑ$sñýyŠþ ‘S’ ÍÑ$sñýyŠþ BçÜ$¢Ë$ ‘H’ ÍÑ$sñýyŠþ ‘S’ ÍÑ$sñýyŠþ 
 D MìüÓsîý ÐésêË$   ÑÑ«§æþ BçÜ$¢Ë$ 1,60,000 24,000 

 1 Mìü Ææÿ* 10 ^öç³š @̄þ 2,00,000 40,000 çÜÆæÿ$Mæü$ 1,22,000 48,000 

 Ìê¿¶ý¯@þÚëtË Rê™é 80,000 24,000 º¬×ý“VæüçÜ$¢Ë$ 26,000 34,000 

 ÇfÆæÿ$Ó °«̈   20,000 12,000 Ð@þçÜ*Ë$ ¼Ë$ÏË$ 2000 - 

 º¬×ý§é™èþË$  40,000 24,000 ‘S’ ÍÑ$sñýyŠþ ÌZ° 

 ð̂þÍÏ…ç³# ¼Ë$ÏË$ - 6,000 3000 ÐésêË$ 30,000 - 

    3,40,000 1,06,000  3,40,000 1,06,000 

 A§æþ¯@þç³# çÜÐ@þ*^éÆæÿ… :- 

a) ‘S’ ÍÑ$sñýyŠþ ÐéÆæÿ$ BÇj…_¯@þ Ððþ¬™èþ¢… Ìê¿¶ýÐ@þ¬ A…™é ‘H’ ÍÑ$sñýyŠþ ÐéÆæÿ$ ‘S’ ÍÑ$sñýyŠþ ÌZ° 
3000 ÐésêË$ Mö¯@þ² ™èþÆ>Ó™èþ BÇj…_¯@þ§óþ.  

b) ‘H’ ÍÑ$sñýyŠþ 3000 ÐésêË¯@þ$ Mö¯@þ$VøË$ ó̂þíÜ¯@þ ™óþ©¯ésìýMìü ‘S’ ÍÑ$sñýyŠþÌZ ÇfÆæÿ$Ó °ËÓ Ææÿ*. 
12,000 E @̄þ²̈ . 

c) ‘S’ ÍÑ$sñýyŠþ A…XMæüÇ…_¯@þ ¼Ë$ÏË$ A±² ‘H’ ÍÑ$sñýyŠþ ÐéÇMìü ^ðþÍÏ…^èþÐ@þËíÜ¯@þÐóþ, Ðésìý° Ææÿ*. 
4000 ËMæü$ yìþÝûP…sŒý ^óþÄ¶ý$ºyìþ¯@þÑ. 

d) ‘S’ÍÑ$sñýyŠþ ÐéÇ ÑÑ«§æþ BçÜ$¢Ë$ Ææÿ*. 4000 Ë$ ™èþMæü$PÐ@þ V> ÑË$Ð@þ MæürtyæþOÐðþ$¯@þ¨. 
 

Q15)  A limited agrees to acquire the business of ‘B’ Limited as on 31.3.2012 on which date 
the Balance sheet of ‘B’ Limited was as under : 

  Liabilities  Rs. Assets Rs. 

 Share Capital   Good will  4,50,000 

 (Rs. 10 shares)  18,00,000 Buildings 7,50,000 

 General Reserve  6,00,000 Plant 9,00,000 

 8% debentures  3,00,000 Stock 6,24,000 

 P and L account  2,10,000 Sundry debtors 1,86,000 

 Sundry creditors  90,000 Cash 90,000 

    30,00,000  30,00,000 

 The consideration payable by A limited was : 

 a) A cash payments Rs. 5 per share 

 b) The issue of 2,40,000 shares of Rs. 10 each at on agreed value of Rs. 12.50 per 

share. 

 c) The discharge of debentures at a premium of 5% the cost of liquidation Rs. 15,000 

is to be met by the purchasing company. 

 Pass journal entries in the books of both the companies. 

 ‘B’ÍÑ$sñýyŠþ ÐéÇ ÐéÅ´ëÆ>°² 31.03.2012 ¯@þ Mö¯@þ$VøË$ ^óþÄ¶ý$yé°Mìü ‘A’ ÍÑ$sñýyŠþ A…XMæüÇ…_…¨. B 
Æøk¯@þ ‘B’ ÍÑ$sñýyŠþ ÐéÇ BíÜ¦ Aç³šË ç³sîýt CÌê E…¨. 

   Aç³šË$  Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 

 Ðésê Ð@þÊË«§æþ¯@þ… (Ææÿ*10)  18,00,000 Væü$yŠþ ÑÌŒý  4,50,000 



  
   

 Ýë«§éÆæÿ×ý ÇfÆæÿ$Ó  6,00,000 ¿¶ýÐ@þ¯éË$ 7,50,000 

 8% yìþ»ñý…^èþÆæÿ$Ï  3,00,000 ´ëÏ…r$ 9,00,000 

 Ìê¿¶ý ¯@þÚëtË Rê™é  2,10,000 çÜÆæÿMæü$ 6,24,000 

 º¬×ý§é™èþË$  90,000 º¬×ý“VæüçÜ$¢Ë$ 1,86,000 

     ¯@þVæü§æþ$ 90,000 

    30,00,000  30,00,000 

 ‘A’ ÍÑ$sñýyŠþ ð̂þÍÏ…^óþ {ç³† çœË… CÌê E…r$…¨. 

 a) {ç³† ÐésêMæü$ Ææÿ*. 5 Ë ^öç³š¯@þ ¯@þVæü§æþ$ ^ðþÍÏ…ç³# 

 b) Ææÿ*. 10 Ë ÑË$Ð@þ VæüË 2,40,000 ÐésêË$, Ðésê 1 Mìü Ææÿ*. 12.50 ^öç³š¯@þ gêÈ. 

 c) 5% {ï³Ñ$Ä¶ý$…ÌZ yìþ»ñý…^èþÆæÿÏ ÑÄñý*^èþ¯@þ… 
 ÍMìüÓyóþçÙ¯Œþ QÆæÿ$aË$ Ææÿ*. 15,000 Mö¯@þ$VøË$ Mæü…ò³± ^ðþÍÏçÜ$¢…¨. Æðÿ…yæþ$ Mæü…ò³±Ë ç³#çÜ¢M>ËÌZ _sêt 

ç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ. 
 

Q16)  The form the following particulars of life insurance corporation prepare revenue    

account for the year ended 31
st
 March 2016 and Balance sheet as on that date. 

     Rs 

  Claims by death 2,00,000 
  Claims by maturity  6,00,000 

  Surrenders  60,000 
  Annuities   40,000 

  Bonus in cash  20,000 

  Bonus in reduction of premium 40,000 

  Buildings  7,40,000 

  Investments  10,00,000 

  Loans  6,00,000 

  Bills receivables 10,000 

  Capital  2,00,000 

  Insurance fund 16,00,000 
  Reserve fund 6,00,000 

  Premiums   6,00,000 
  Registration fee 2,00,000 

  Consideration for annuties granted 100,000 

  Bills payable 10,000 

 Adjustments : 

a) Claims admited by maturity but not paid Rs. 30,000 

b) Further bonus utilised in reduction of premium Rs. 10,000. 

c) Outstanding premium Rs. 50,000. 

d) Reinsurence recoveries by death Rs. 20,000. 

31.3.2016 ™ø A…™èþOÐðþ$Äôý$Å çÜ…||Mìü Æ>ºyìþ Rê™é¯@þ$, B ¯ésìý BíÜ¢ Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. 
  Ð@þ$Ææÿ×ý… Ð@þË¯@þ MðüÏÆÿ¬ÐŒþ$Ë$ 2,00,000 



  
   

  Væüyæþ$Ð@þ# ¡Ææÿ$rÐ@þË¯@þ MðüÏÆÿ¬ÐŒþ$Ë$  6,00,000 

  º§æþ$Ë$ Møâ¶ý$å 60,000 

  ÐéÇÛM>Ë$   40,000 

  ¯@þVæü§æþ$ÌZ »Z @̄þ‹Ü  20,000 

  {ï³Ñ$Ä¶ý$… ™èþWY…ç³# °Ñ$™èþ¢… »Z¯@þ‹Ü 40,000 

  ¿¶ýÐ@þ¯éË$  7,40,000 

  ò³r$tºyæþ$Ë$   10,00,000 

  º¬×êË$  6,00,000 

  Ð@þçÜ*Ë$ ¼Ë$ÏË$ 10,000 

  Ð@þÊË«§æþ¯@þ…  2,00,000 

  ÁÐ@þ* °«̈   16,00,000 

  ÇfÆæÿ$Ó °«̈   6,00,000 

  {ï³Ñ$Ä¶ý$…Ë$   6,00,000 

  ÇhõÙ‰çÙ¯Œþ ïœk 2,00,000 

  

 

  ÐéÇÛM>Ë Oò³ {ç³†çœË… 100,000 

 ^ðþÍÏ…ç³# ¼Ë$ÏË$ 10,000 

 çÜÆæÿ$ª»êr$Ï : 
a) Væüyæþ$Ð@þ# ¡Ææÿ$rÐ@þË¯@þ BÐðþ*¨…_¯@þ ð̂þÍÏ…^èþ° MðüÏÆÿ¬ÐŒþ$Ë$ 30,000. 
b)  {ï³Ñ$Ä¶ý$… ™èþWY…ç³# °Ñ$™èþ¢… Ñ°Äñý*W…_¯@þ A§æþ¯@þç³# »Z¯@þ‹Ü 10,000 

c) Æ>Ð@þËíÜ¯@þ {ï³Ñ$Ä¶ý$… 50,000 

d) Ð@þ$Ææÿ×ý… Ð@þË¯@þ ç³#¯@þÈÂÐ@þ* Ð@þçÜ*Ë$Ï 20,000. 
Q17)  Prepare the profit and loss a/c and the balance sheet of Narayana Bank Ltd. As on 

31.3.2010 from the following ledger balances. 

    Rs.  Rs. 

    (000) (000)

Share capital 12500 equity  Depreciation on    

 Shares of Rs. 100 each.  1250 Premises  22 

     Interest discount and  

 Statutory Reserve  600 Commission 245 

 Current deposit a/c  77.32 Cash in hand and with RBI 1584 

 P & L a/c balance  15 Money at call and short notice 274 

 Interest paid  27 Bills discounted 379 
 Govt. Securities   600 Loans and advances 4,665 

 Other securities  825 Bank premises and furniture 418 

 Shares and stock  637 Non – Banking assets 337 

 Payment to employees  74  

 Make provision for rebate on Bills discounted � 3000 



  
   

 D ¨Væü$Ð@þ C_ā @þ ¯éÆ>Ä¶ý$×ý »êÅ…Mæü$ Í. ÐéÇ BÐ@þÆ>j °ËÓË ¯@þ$…yìþ Ìê¿¶ý ¯@þÚëtË Rê™é Ð@þ$ÇÄ¶ý¬ BíÜ¢ 
Aç³šË ç³sìýtMæü¯@þ$ 31.3.2010 ¯ésìýMìü ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

    Ææÿ*.  Ææÿ*. 

    (000) (000)
12.500 DMìüÓsîý ÐésêË$ Ðésê    

 1 Mìü Ææÿ* 100 ^ö||̄ @þ Ô>çÜ¯é™èþÃMæü ÇfÆæÿ$Ó 1250 BÐ@þÆæÿ×êË Ò$§æþ ™èþÆæÿ$Væü$§æþË  22 

 Ô>çÜ¯é™èþÃMæü ÇfÆæÿ$Ó  600 Ð@þyîþz & yìþÝûP…sŒý MæüÒ$çÙ¯Œþ 245 

 MæüÆðÿ…yæþ$ yìþ´ëhsŒý Rê™é  77.32 ^óþ†ÌZ¯@þ$ Ð@þ$ÇÄ¶ý¬ RBI Ð@þ§æþª ¯@þVæü§æþ$   1584 

 Ìê¿¶ý ¯@þÚëtË Rê™é  15 MøÆæÿV>¯óþ ™èþMæü$PÐ@þ Ð@þÅÐ@þ«̈ ÌZ Ð@þ^óþa ¯@þVæü§æþ$ 274 

 ^ðþÍÏ…_¯@þ Ð@þyîþz  27 yìþÝûP…r$ ^óþíÜ¯@þ ¼Ë$ÏË$ 379 

 {ç³¿¶ý$™èþÓ òÜMæü*ÅÇsîýË$   600 Aç³šË$ & AyéÓ @̄þ$ÞË$ 4,665 

 C™èþÆæÿ òÜMæü*ÅÇsîýË$  825 »êÅ…Mæü$ BÐ@þÆæÿ×êË$ Ð@þ$ÇÄ¶ý¬ çœÇ²̂ èþÆŠÿ 418 

 ÐésêË$ Ð@þ$ÇÄ¶ý¬ çÜÆæÿ$Mæü$  637 ¯é¯Œþ »êÅ…Mìü…VŠü BçÜ$¢Ë$ 337 

 E§øÅVæüçÜ$¢ËMæü$ ^ðþÍÏ…ç³#Ë$  74 

 yìþÝûP…r$ ó̂þíÜ¯@þ ¼Ë$ÏË Ò$§æþ Ç»ôýr$ Ææÿ*. 3,000.  
 

Q18)  Sudheer Ltd was incorporated on 01.07.2015 and Received its certificate of com-

mencement of business on 01.08.2015. The company bought the business of Krishna 

Ltd with effect from 1.4.2015. From the following figures relating to the year ending 

31
st
 March 2016. Find out the profit prior to incorporation.  

  a) Sales from the year 1,20,000 out of which sales up to 1.8.2015 were 50,000 

 b) Gross profit for the year were 36,000 

 c) The expeness debited to the profit and loss account were :  

   Rs. 

  Rent  1,800 

  Salaries 3000 

  Directors fee 960 

  Depreciation  4,800 

  Advertising  3,600 

  Commission on sales 1200 
  Interest on debentures 1000 

  Audit fee 300 
  Discount on sales 720 

  General Expenses 960 
  Stationery and Printing 720 

  Bad debts 300 
 ççÜ$«©ÆŠÿ ÍÑ$sñýyŠþ 1.7.2015 ¯@þ ¯@þÐðþ*§æþ$ AÆÿ¬ 1.8.2015 ÐéÅ´ëÆæÿ {́ ëÆæÿ…¿¶ý «§æþ–Ð@þ ç³{™é°² ¡çÜ$Mæü$¯@þ²̈ . 
1.4.2015 @̄þ$…yìþ Mæü–Úë~ ÍÑ$sñýyŠþ ÐéÅ´ëÆ>°² Mö¯@þ$VøË$ ^óþíÜ¯@þ¨. 31.3.2016 ¯ésìý “Mìü…¨ ÑÐ@þÆ>Ë ¯@þ$…yìþ 
¯@þÐðþ*§æþ$Mæü$ Ð@þ¬…§æþ$ Ìê¿ê°² Mæü¯@þ$Vö¯@þ…yìþ.  

 a) çÜ…Ð@þ™èþÞÆæÿ…ÌZ AÐ@þ$ÃM>Ë$ 1,20,000 M>V> A…§æþ$ 1.8.2015 Ð@þÆæÿMæü$ AÐ@þ$ÃM>Ë$ 50,000. 



  
   

 b) çÜ…Ð@þ™èþÞÆæÿ…ÌZ BÇj…_¯@þ çÜ*¦Ë Ìê¿¶ý… 36,000. 
 c) Ìê¿¶ý ¯@þÚëtË Rê™éMæü$ yðþ¼sŒý ó̂þíÜ¯@þ QÆæÿ$aË$ 
   Ææÿ* 

  A§ðþª 1,800 

  i™éË$ 3000 

  OyðþÆðÿMæütÆæÿ Ï ïœk 960 

  ™èþÆæÿ$Væü$§æþË  4,800 

  {ç³Mæür¯@þË$  3,600 

  AÐ@þ$ÃM>Ë Oò³ MæüÒ$çÙ¯Œþ 1200 

  yìþ»ñý…^èþÆæÿÏ Ð@þyîþz 1000 

  ByìþsŒý ïœk 300 

  AÐ@þ$ÃM>Ë Oò³ yìþÝûP…sŒý 720 

  Ýë«§éÆæÿ×ý QÆæÿ$aË$ 960 

  õÜtçÙ¯@þÈ Ð@þ¬{§æþ×ý 720 

  Æ>° »êMîüË$ 300  

���� 
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B.Com. DEGREE EXAMINATION, MAY – 2017 

(Examination at the end of Third Year) 

Advanced Management Accounting (Gen) 

Time : 3 Hours  Maximum Marks : 80 

     SECTION – A (4 × 4 = 16) 

    Answer any four of the following 

Q1) Financial Analysis and Interpretation. 
  BÇ¦Mæü ÑÔóýÏçÙ×ý Ð@þ$ÇÄ¶ý¬ ÑÐ@þÆæÿ×ý. 

.Q2) Standard hour 

 {́ ëÐ@þ*×ìýMæü Væü…r 

Q3)  Cash Flows After Tax (CFAT) 
 çç³¯@þ$² ™èþÆæÿ$Ðé™èþ ¯@þVæü§æþ$ {ç³ÐéçßýÐ@þ¬ 

Q4)  Sources of funds 
°«§æþ$Ë Ð@þÊÌê«§éÆ>Ë$ 

Q5)  Make or buy decisions 
 ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$yæþÐ@þ* Ìôý§é Mö¯@þyæþÐ@þ* A¯óþ ÑçÙÄ¶ý$Ð@þ¬ÌZ °Ææÿ~Ä¶ý*Ë$. 

Q6)  Tools and techniques used in management accounting. 
 Ðóþ$¯óþgŒýÐðþ$…sŒý AMú…sìý…VŠüÌZ Eç³Äñý*W…^óþ Ýë«§æþ¯éË$, ç³°Ð@þ¬r$Ï. 

Q7)  Cash equivalents 
 ¯@þVæü§æþ$Mæü$ çÜÐ@þ*¯@þOÐðþ$¯@þ A…Ô¶ýÐ@þ¬Ë$ 

Q8)  Internal rate of return 
 A…™èþÆæÿY™èþ Æ>ºyìþ Æóÿr$ 

     SECTION – B (2 × 8 = 16) 

Answer any two of the following questions 

Q9)  Explain in detail about capital budgeting process. 
 Ð@þÊË«§æþ¯@þ ºyðþjsìý…VŠü {ç³“MìüÄ¶ý$ Væü*Ça Mæü$Ïç³¢…V> ÑÐ@þÇ…ç³#Ð@þ¬. 

Q10) Explain the limitations of Management Accounting. 

 Ðóþ$¯óþgŒýÐðþ$…sŒý AMú…sìý…VŠü ç³ÇÑ$™èþ$Ë$ ™ðþË$µÐ@þ¬. 

Q11) A plant produces 600 units at 45% capacity utilization, The costs incurred were as 
follows : 



  
   

    �

Raw materials 15,60,000 

   Labour 15,36,000 

   Direct expenses 6,14,400 

   Indirect expenses 1,53,600 

   Salary 6,00,000 

   Rent 9,60,000 

   Sales men commission  10% on sales 

   Distribution expenses  � 82,000 (60 variable)   

   Sales                             � 72,00,000 

 Prepare a flexible budget at 80% capacity utilization of plant and ascertain loss or gain.

JMæü ´ëÏ…sŒý 45 Ô>™èþÐ@þ¬ ÝëÐ@þ$Ææÿ®ÅÐ@þ¬ Ð@þ§æþª E™èþµ†¢ ^óþÄ¶ý¬ Ð@þçÜ$¢Ð@þ#Ë$ 600 Ä¶ýÊ°r$Ï, Ðésìý QÆæÿ$a 
ÑÐ@þÆæÿÐ@þ¬Ë$ ¨Væü$Ð@þ CÐ@þÓyæþOÐðþ$¯@þ¨. 

     Ææÿ*
Ððþ$sîýÇÄ¶ý$ÌŒýÞ 15,60,000 

   “Ô¶ýÐ@þ$  15,36,000 

   {ç³™èþÅ„æü QÆæÿ$aË$ 6,14,400 

   ç³Æø„æü QÆæÿ$aË$ 1,53,600 

   i™éË$ 6,00,000 

   A§ðþª  9,60,000 

   õÜÌŒýÞÐðþ$¯Œþ MæüÒ$çÙ¯Œþ  AÐ@þ$ÃM>ËÌZ 10 Ô>™èþÐ@þ¬ 

   ç³…í³×îý QÆæÿ$aË$ 82000 (60 Ô>™èþÐ@þ¬ ^èþÆæÿ QÆæÿ$a) 
  AÐ@þ$ÃM>Ë$ Ææÿ* 72,00,000 

 Oò³ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ ´ëÏ…sŒý 80 Ô>™èþ… ÝëÐ@þ$Ææÿ®ÅÐ@þ¬ Ð@þ§æþª Ð@þçÜ$¢ E™èþµ†¢ ^óþíÜ¯@þ^ø ^èþÆæÿºyðþjsŒý ™èþÄ¶ý*Ææÿ$ 
ó̂þíÜ Ìê¿¶ýÐ@þ* Ìôý§é ¯@þçÙtÐ@þ* ÌñýMìüP…ç³#Ð@þ¬.      

Q12) From the following information, compute, material usage mix, price and cost          

variances. 

  Product Standard  Actual 

   Quantity  Value per kg  Quantity  Value per kg 

   kg  �  kg  �

I 1050  80.00  1040  76.00 

  J 1180  62.00  1170  60.00 

  K 920  55.00  900  56.00 



  
   

 

 ̈ Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ Ððþ$sîýÇÄ¶ý$ÌŒý «§æþÆæÿ Ñ^èþÆæÿ×ýÐ@þ¬, Ððþ$sîýÇÄ¶ý$ÌŒý Ñ°Äñý*Væü Ñ^èþÆæÿ×ýÐ@þ¬, Ððþ$sîýÇÄ¶ý$ÌŒ 
Ñ$“Ô¶ýÐ@þ$ Ñ è̂þÆæÿ×ýÐ@þ¬,ý Ððþ$sîýÇÄ¶ý$ÌŒý M>‹Üt Ñ^èþÆæÿ×ýÐ@þ¬ ÌñýMìüP…ç³#Ð@þ¬. 

  {́ ÷yæþMæü$t {́ ëÐ@þ*×ìýMæü  ÐéçÜ¢Ð@þ 

   ç³ÇÐ@þ*×ýÐ@þ¬  ÑË$Ð@þ kg Mìü  ç³ÇÐ@þ*×ýÐ@þ¬  ÑË$Ð@þ kg Mìü 

   kg  Ææÿ*  kg  Ææÿ*

I 1050  80.00  1040  76.00 

  J 1180  62.00  1170  60.00 

  K 920  55.00  900  56.00 

  

     SECTION – C (3 × 16 = 48) 

Answer any three of the following  

Q13) Sales (4000 units)  � 40,00,000 

 Contribution to sales ratio  0.40 

 Profit     � 6,00,000 

 a) Prepare a Marginal cost statement 

b) BEP (Units)  

 c) BEP sales (�) 

 d) Margin of safety 

 e) Sales for profits of � 7,00,000 

 AÐ@þ$ÃM>Ë$ 4000 Ä¶ýÊ°r$Ï Ææÿ* 40,00,000 

 Mæü…{sìý¿¶ý*çÙ¯Œþ AÐ@þ$ÃM>Ë$ 0.40 

 Ìê¿¶ýÐ@þ¬ Ææÿ* 6,00,000 

 Oò³ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ 

 a) Ð@þ*ÆŠÿj̄ @þÌŒý M>‹Üt ç³sìýtM æü 

 b) {»ôýMŠü & D Ððþ¯Œþ ´ëÆÿ¬…sŒý Ä¶ýÊ°r$Ï 

 c) {»ôýMŠü & DÐðþ¯Œþ ´ëÆÿ¬…sŒý AÐ@þ$ÃM>Ë$ 



  
   

 d) Ææÿ„æü×ý AÐ@þ«̈  °çÙµ†¢ 

 e) Ìê¿¶ýÐ@þ¬ Ææÿ* 7,00,000 Ë$ AÆÿ¬ @̄þ^ø AÐ@þ$ÃM>Ë$ 

Q14) Initial capital investment � 40,00,000 is required for a project. The life period of the 

project is 5 years. Scrap value at the end of the 5 years is � 4,00,000. The following 

are the expected profits before tax. 

   Year Profits before tax 

    �

1 4,80,000 

2 5,30,000 

3 6,20,000 

4 6,92,000 

5 5,00,000 

 Tax rate is 35% 

 Discount factor is 8% 

 Compute : 

 a) Net present value and  

 b) Profitability index  

 JMæü {́ ëgñýMæü$tMæü$ {́ ëÆæÿ…¿¶ýÐ@þ¬ÌZ ò³sìýt̄ @þ ò³r$tºyìþ Ææÿ*. 40,00,000. B {́ ëgñýMæü$t iÑ™èþ M>ËÐ@þ¬ AÆÿ¬§æþ$ 
çÜ…Ð@þ™èþÞÆæÿÐ@þ¬Ë$. AÆÿ¬§æþ$ çÜ…Ð@þ™èþÞÆæÿÐ@þ¬Ë ™èþÆæÿ$Ðé™èþ ™èþ$Mæü$P ÑË$Ð@þ Ææÿ* 4,00,000. A… è̂þ¯é ÐóþÄ¶ý$ºyìþ¯@þ 5 
çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ËMæü$ B§éÄ¶ý$ ç³¯@þ$² Ð@þ¬…§æþ$ Ìê¿êË$ 

      çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ ç³¯@þ$² Ð@þ¬…§æþ$ Ìê¿êË$  

       �

1 4,80,000 

2 5,30,000 

3 6,20,000 

4 6,92,000 

5 5,00,000 

 B§éÄ¶ý$ ç³¯@þ$² Æóÿr$ 35 Ô>™èþÐ@þ¬ 

 yìþÝûP…sŒý Æóÿr$ 8 Ô>™èþÐ@þ¬ 

 Oò³ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ  



  
   

 a) °MæüÆæÿ {ç³çÜ$¢™èþ ÑË$Ð@þ Ð@þ$ÇÄ¶ý¬  

 b) Ìê¿¶ý§éÄ¶ý$Mæü™èþ çÜ*` 

 

Q15) Given below are the two balance sheets of Moon Limited. Prepare  

a) a statement showing changes in working capital 

b) funds flow statement 

Liabilities  1 - 4 - 2015 31-3-2016 Assets 1-4-2015 31-3-2016 

  � � � �

Equity share 

 Capital 10,00,000 12,00,000 Buildings 15,00,000 13,50,000 
Reserves and  

 Surplus 3,70,000 4,00,000  Plant 17,00,000 20,00,000 
 11% debentures 15,00,000 16,00,000  Good will 25,000 18,000 

Creditors 2,08,000 1,77,000  Copy right 12,000 7,000 
Bank OD 1,50,000 80,000  Stock 74,000 62,000 

 Provision for     Debtors 47,000 26,000 
 Taxation 1,50,000 20,000  Cash 10,000 8,000 

     Discount on issue  
     of debentures 10,000 6,000 

  33,78,000 34,77,000  33,78,000 34,77,000 

 Additional Information. 

a) Plant purchased worth � 3,00,000 during 2015 – 2016. 

b) � 1,00,000 11% Debentures were issued at a discount of 5% 

 Ð@þÊ¯Œþ ÍÑ$sñýyŠþ ÐéÇ BíÜ¢ Aç³šË ç³sîýtË ¯@þ$…yìþ 

 a) Ð@þÊË§æþ¯@þ…ÌZ Ð@þ*Ææÿ$µË$ ^èþ*õ³ ç³sìýtMæü Ð@þ$ÇÄ¶ý¬ 

 b) °«§æþ$Ë {ç³Ðéçßý ç³sìýtMæü ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬Ð@þ¬. 

Aç³šË$ 1 - 4 - 2015 31-3-2016 BçÜ$¢Ë$ 1-4-2015 31-3-2016 

  Ææÿ* Ææÿ* Ææÿ* Ææÿ*
DMìüÓsîý Ðésê 
Ð@þÊË«§æþ¯@þÐ@þ¬ 10,00,000 12,00,000 ¿¶ýÐ@þ¯éË$ 15,00,000 13,50,000 

ÇfÆæÿ$ÓË$ 3,70,000 4,00,000 ´ëÏ…r$ 17,00,000 20,00,000 

 11% yìþ»ñý… è̂þÆæÿ$Ï 15,00,000 16,00,000 Væü$yŠþÑÌŒý 25,000 18,000 

º¬×ý§é™èþË$ 2,08,000 1,77,000 M>ï³ OÆðÿsŒý 12,000 7,000 

»êÅ…Mæü$ OD 1,50,000 80,000 ÝëtMŠü 74,000 62,000 

B§éÄ¶ý$ç³¯@þ$² OMðü    º¬×ý“VæüçÜ$¢Ë$ 47,000 26,000 

 HÆ>µr$ 1,50,000 20,000 ¯@þVæü§æþ$ 10,000 8,000 



  
   

    yìþ»ñý… è̂þÆæÿ$Ï gêÈ Oò³ 

    yìþÝûP…sŒý 10,000 6,000 

  33,78,000 34,77,000  33,78,000 34,77,000 

  A§æþ¯@þç³# çÜÐ@þ*^éÆæÿÐ@þ¬ : 

  a) 2015 & 2016 ÌZ Ææÿ* 3,00,000 ÑË$Ð@þ VæüË ´ëÏ…sŒý¯@þ$ Mö¯@þ$VøË$ ó̂þòÜ¯@þ$.  

 b) Ææÿ* 1,00,000 ÑË$Ð@þ VæüË 11% yìþ»ñý…^èþÆæÿ$Ï 5 Ô>™èþÐ@þ¬ yìþÝûP…sŒý ™ø Ñyæþ$§æþË ^óþòÜ¯@þ$. 

 

Q16) From the following balance sheets of Sai Company. Prepare a cash flow statement as 

per As .3. 

   Liabilities 1-4-15 31-3-16 Assets 1-4-15 31-3-16 

    � � � �

Equity share capital  5,00,000 6,00,000 Machinery 8,70,000 7,83,000 

 Preference share capital 3,00,000 ×× Good will 17,000 10,000 

 General reserve 82,000 90,000 Investment 2,00,000 1,00,000 

 Profit and loss A/c 1,70,000 2,00,000 Stock 47,000 40,000 

 Creditors 82,000 79,000 Debtors 32,000 26,000 

 O/S insurance 55,000 ×× Bank 15,000 5,000 

      Preliminary  

      Expenses 8,000 5,000 

    11,89,000 9,69,000  11,89,000 9,69,000 

 Additional Information.  

a) 10% equity dividend paid during 2015 – 2016 amounting � 50,000 

b) Investments were sold at a profit of 10% 

ÝëÆÿ¬ Mæü…ò³± ÐéÇ ¨Væü$Ð@þ BíÜ¢ Aç³šË ç³sîýtË ¯@þ$…yìþ ¯@þVæü§æþ$ {ç³Ðéçßý ç³sìýtMæü As .3 {ç³M>ÆæÿÐ@þ¬ ™èþÄ¶ý*Ææÿ$ 
ó̂þÄ¶ý¬Ð@þ¬. 

 Aç³šË$  1-4-15 31-3-16 BçÜ$¢Ë$ 1-4-15 31-3-16 

    Ææÿ* Ææÿ* Ææÿ* Ææÿ*

DMìüÓsîý Ðésê Ð@þÊË«§æþ¯@þÐ@þ¬  5,00,000 6,00,000 Ä¶ý$…{™éË$ 8,70,000 7,83,000 

 A©Mæü–™èþ Ð@þÊË«§æþ¯@þÐ@þ¬ 3,00,000 ×× Væü$yŠþ ÑÌŒý 17,000 10,000 

 Ýë«§éÆæÿ×ý ÇfÆæÿ$Ó 82,000 90,000 ò³r$tºyæþ$Ë$ 2,00,000 1,00,000 

 Ìê¿¶ý ¯@þÚëtË Rê™é 1,70,000 2,00,000 ÝëtMŠü 47,000 40,000 



  
   

 º¬×ý§é™èþË$ 82,000 79,000 º¬×ý“VæüçÜ$¢Ë$ 32,000 26,000 

 ð̂þÍÏ…^èþÐ@þËíÜ¯@þ ÁÐ@þ* 55,000 ×× »êÅ…Mæü$ 15,000 5,000 

      {́ ëÆæÿ…¿¶ý QÆæÿ$aË$ 8,000 5,000 

    11,89,000 9,69,000  11,89,000 9,69,000  

 a) Ææÿ* 50,000 Ë$ 10% DMìüÓsîý yìþÑyðþ…yŠþ 2015 & 2016 ÌZ ^ðþÍÏ…^ðþ¯@þ$. 

 b) ò³r$tºyæþ$Ë¯@þ$ 10 Ô>™èþÐ@þ¬ Ìê¿¶ýÐ@þ¬™ø AÐðþ$Ã¯@þ$. 

 
Q17) Give a proforma of production budget with assumed figures.  
 Fà™èþÃMæü A…MðüË™ø E™èþµ†¢ ºyðþjsŒý ¯@þÐ@þÊ¯é ^èþ*ç³#Ð@þ¬. 
 
Q18) Explain the Benefits of Management Accounting.   
 Ðóþ$¯óþgŒý Ððþ$…sŒý AMú…sìý…VŠü {ç³Äñý*f¯éË$ ™ðþË$µÐ@þ¬.      
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